
  

 

 

U.G. DEGREE EXAMINATION – JULY 2024. 

Commerce 

First Semester 

BUSINESS MANAGEMENT 

Time : 3 hours Maximum  marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions  

in 100 words. 

All questions carry equal marks 

1. What is meant by Management?  

 ÷©»õsø© GßÓõÀ GßÚ? 

2. What is planning? 

 vmhªhÀ GßÓõÀ GßÚ? 

3. What is the best span of management? 

 {ºÁõPzvß EP¢u CøhöÁÎ GßÓõÀ GßÚ? 

 UG-AS-1319 BCOS-11/
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4. Define Motivation. 

 FUP® ÁøμÂ»UPn® u¸P. 

5. What is controlling in management? 

 ÷©»õsø©°À Pmk¨£kzxuÀ GßÓõÀ GßÚ? 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions  
in 200 words 

All questions carry equal marks. 

6. State the levels of management. 

 ÷©»õsø©°ß £i{ø»PøÍU TÖP. 

7. What are three types of MBO? 

 MBO–Âß ‰ßÖ ÁøPPÒ ¯õøÁ? 

8. Write a note on Delegation technique. 

 AvPõμ¨ ¤μv{vzxÁzøu £ØÔ SÔ¨¦ GÊxP. 

9. State the various leadership styles. 

 uø»Á›ß ÷ÁÖ£mh £õoPøÍ TÖP. 

10. Bring out the characteristics of controlling. 

 Pmk¨£kzxu¼ß C¯À¦PøÍ öÁÎUöPõnºP. 



 UG-AS-1319 3

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 

500 words. 

All questions carry equal marks. 

11. Explain the three approaches of management 

thoughts. 

 ÷©»õsø© |Ø]¢uøÚ°ß ‰ßÖ 

AqS•øÓPøÍ ÂÍUSP. 

12. Describe the steps of planning process.  

 vmhªhÀ ö\¯À•øÓPÎß £i{ø»PøÍ 

ÂÍUSP. 

13. Explain the elements of organizing. 

 Aø©¨¤ß EmTÖPøÍ ÂÍUSP. 

14. State the need for co-ordination. 

 J¸[Qøn¨¤ß ÷uøÁPøÍ TÖP. 

15. Explain the importance of controlling process. 

 Pmk¨£kzxuÀ ö\¯À•øÓ°ß •UQ¯zxÁzøu 

ÂÍUSP. 
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16. Explain the important elements in delegation. 

 AvPõμ¨ ¤μv{vzxÁzvß •UQ¯ EmTÖPøÍ 

ÂÍUSP. 

17. Explain the importance of communication process. 

 öuõhº¦ ö\¯À•øÓ°ß •UQ¯zxÁzøu 

ÂÍUSP. 

––––––––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
JULY 2024 

Commerce 

First Semester 

FINANCIAL ACCOUNTING 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions  
in 100 words 

All questions carry equal marks 

1. Define Accounting. 

 PnUQ¯ø» Áøμ¯ÖUPÄ®. 

2. What is prime entry? 

 öuõhUP £vÄ Gß£uß Aºzu® GßÚ? 

3. Explain the term compensating errors. 

 Dk ö\´²® ¤øÇPÒ GßÓ ö\õÀø» ÂÍUPÄ®. 
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4. Who is a hirer? 

 T¼¯õÒ Gß£Áº ¯õº? 

5. What do you mean by secret reserve? 

 CμP]¯ C¸¨¦ GßÓõÀ GßÚ? 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions  
in 200 words 

All questions carry equal marks 

6. Describe the various stages in accounting cycles. 

 PnUQ¯À _ÇØ]°ß £À÷ÁÖ {ø»PøÍ ÂÍUSP. 

7. Journalize the following transactions. 
2021 Jan.  

1 Commenced business with Rs. 50,000 

2 Purchased goods for cash Rs. 10,000 

3 Sold goods to Madan Rs. 15,000 

 ¤ßÁ¸® |hÁiUøPPÐUS SÔ¨÷£mk £vÄPÒ 
u¸P. 

2021 áÚÁ›  

1 öuõÈÀ öuõh[Q¯x ¹. 50,000 

2 öμõUPzvØS \μUS Áõ[Q¯x ¹. 10,000 

3 ©uÝUS PhÝUS \μUS ÂØÓx ¹. 15,000
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8. Starting with cash book balance of Rs. 1,60,000 as 
on 31.12.2016. Prepare a bank reconciliation 
statement as on the same date after taking the 
following into consideration: 

Particulars Rs. 

Cheque deposited but not collected 7,900

Cheque issued but not presented 11,000

Interest credited in passbook but  

not recorded in cash book 2,500

Bank charges debited in pass book 

but not recorded in cash book 500

 31.12.2016–À öμõUP Hmiß£i C¸¨¦  
¹. 1,60,000. ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Á[Q 
PnUS \›Pmk® £mi¯À u¯õ›zx A¢u |õÎÀ 
Á[Q ö\¾zx ¦zuP C¸¨ø£ Psk¤iUPÄ®. 

ÂÁμ[PÒ ¹. 

Á`¼¨£uØPõP Á[Q°À ö\¾zu¨£mh 
Põ÷\õø»PÒ CßÝ® Á`¼UP¨£hõux 7,900

ÁÇ[P¨£mh Põ÷\õø»PÒ Á[Q°À 
ö\¾zu¨£hõux 11,000

Á[Q PnUQÀ ÁμÄ øÁUP¨£mh Ámi öμõUP 
HmiÀ £vÄ ö\´¯¨£hõux 2,500

Á[Q PnUQÀ £ØÖ øÁUP¨£mh Ámi 
Pmhn® öμõUP HmiÀ £vÄ ö\´¯¨£hÂÀø» 500
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9. A machine was purchased for Rs. 30,000 on  
1.1.19. It is expected to last for 5 years. Estimated 
scrap at the end of five years is Rs. 5,000. Find out 
the rate of depreciation. 

 1.1.19 AßÖ ¹. 30,000 ©v¨¦ÒÍ C¯¢vμ® 
Áõ[P¨£mhx. Gvº÷|õUS® £¯ÚÎ¨¦ Põ»®  
5 BskPÒ BS®. 5 Bsk •iÂÀ CÖv ©v¨¦ 
¹. 5,000. ÷u´©õÚ ÂQuzøu PnUQk. 

10. Explain the various methods of calculating 
account current. 

 |øh•øÓ PnUøP PnUQh £À÷ÁÖ ÁøPPøÍ 
ÂÍUSP.  

PART C —  (4 × 10 = 40 marks) 
Answer any FOUR questions out of Seven questions  

in 500 words 
All questions carry equal marks 

11. What are the objectives of accounting? 

 PnUQ¯¼ß ÷|õUP[PÒ ¯õøÁ? 

12. From the following balances taken from the books 
of VED and Co., prepare Trading and Profit and 
Loss Account for the year ending 30th June 2021 
and Balance Sheet as on that date:  

Particulars Rs. Particulars Rs.

Capital 35,000 Return 
outward 110

Building 18,750 Salaries 1,110
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Machinery 9,250 Discount 
allowed 200

Debtors 7,000 Stock 
(1.7.2020) 16,500

General 
expenses 

 
800 

Bills payable 5,000

Rent paid 3,710 Sales 63,500

Drawings 650 Purchases 46,850

Electric 
charges 

 
190 

Wages 2,500

Carriage 
inward 

 
850 

Cash in hand 1,800

Cash at bank 3,000 Sundry 
creditors 

10,000

Return inward 450  

 Closing stock is valued at Rs. 18,210 

 ¤ßÁ¸® C¸¨¦PÒ VED & Co. HkPÎÀ C¸¢x 
GkUP¨£mhx. 30, áúß 2021–® |õ÷Íõk •iÄÖ® 
BskUPõÚ, Â¯õ£õμ C»õ£ / |mh PnUS ©ØÖ® 
A¢|õøÍ¯ C¸¨¦ {ø»U SÔ¨ø£²® u¯õº 
ö\´P.  

 
ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

•uÀ 35,000 öÁÎ v¸¨£® 110

Pmih® 18,750 \®£Í® 1,110

C¯¢vμ® 9,250 uÒÐ£i  
AÝ©vzux 200
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PhÚõÎPÒ 7,000 \μUQ¸¨¦  
(1.7.2020) 16,500

ö£õx 
ö\»ÄPÒ 

800 ö\¾zxÁuØS›¯
©õØÖ ^mk 5,000

ÁõhøP 
ö\¾zv¯x 

 
3,710 

ÂØ£øÚ 63,500

Gk¨¦ 650 öPõÒ •uÀ 46,850

ªß\õμ  
Pmhn® 

 
190 

T¼ 2,500

EÒyUS 
T¼ 

 
850 

øP°¸¨¦ 
öμõUP® 

1,800

Á[Q°¸¨¦ 3,000 £Ø£» 
PhÜ¢÷uõº 10,000

öμõUP® 
EÒv¸¨£® 

 
450 

 

 CÖv \μUQ¸¨¦PÒ ©v¨¦ ¹. 18,210 

13. The bank over draft of Kavi on 31.03.16 as per 
cash book is Rs.9,000. From the following 
particulars prepare bank reconciliation statement: 

 (a) Un presented cheque Rs.3,000 

 (b) Uncleared cheque Rs.1,700 

 (c) Bank interest debited in the pass book only 
Rs.500 

 (d) Bill collected and credited in the pass book 
only Rs.800 

 (e) Cheque of Renu dishonoured Rs.500 

 (f) Cheque issued to Sekar entered in the cash 
column of cash book Rs.300 
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 31.3.16 AßÖ öμõUP Hmiß£i PÂ°ß Á[Q 
÷©À Áøμ £ØÖ ¹. 9,000. ¤ßÁ¸® ÂÁμ[PøÍ 
öPõsk Á[Q \›Pmk® £mi¯ø» u¯õ›UP. 

 (A) ö\¾zuõu Põ÷\õø» ¹. 3,000 

 (B) öuÎÂÀ»õu Põ÷\õø» ¹. 1,700 

(C)  ö\À÷»miÀ ©mk® £ØÖ øÁUP¨£mh Á[Q 
Ámi ¹. 500 

 (D) ö\À÷»miÀ ©mk® Á`¼zx ÁμÄ 
øÁUP¨£mhx ¹. 800 

 (E) ÷μqÂß Põ÷\õø» AÁ©vUP¨£mhx  
¹. 500 

 (F) öμõUP HmiÀ öμõUP £zv°À £vÄ 
ö\´¯¨£mh ÷\P¸US AÎzu Põ÷\õø»  
¹. 300 

14. Record the following transactions completed 
during the month of March 2022 in the Journal: 

March  Rs.
1 Paid rent for the month 600
2 Paid cash for office stationery 60
8 Purchased office equipment on account 10,000

13 Paid advertisement expenses 600
15 Received cash from Kumar on account 8,000
18 Paid Maran on account 4,000
25 Withdraw cash for personal use 2,000
29 Paid telephone bill 600
31 Paid for repairs to typewriters 300
31 Paid electricity bill for the month 400

  



 UG–AS–1320 8

 ¤ßÁ¸® |hÁiUøPPøÍ ©õºa 2022–® Bsiß 
SÔ¨÷£miÀ £vÄ ö\´P.  

©õºa  ¹.
1 ©õu ÁõhøP ö\¾zv¯x 600
2 A¾Á»P GÊx ö£õ¸ÐUS ö\¾zv¯ 

öμõUP® 
60

8 A¾Á»P ö£õÔPÒ Áõ[Q¯x 10,000
13 ÂÍ®£μ ö\»ÄPÒ ö\¾zv¯x 600
15 S©õ›h® ö£ØÓ öμõUP® 8,000
18 ©õÓÝUS ö\¾zv¯x 4,000
25 ö\õ¢u ÷uøÁUS £n® Gkzux 2,000
29 öuõø»÷£] Pmhn® ö\¾zv¯x 600
31 umha_ ö£õÔ £Êx £õº¨£uØS 

ö\¾zv¯x 300
31 ©õu ªß\õμ Pmhn® ö\¾zv¯x 400

15. Prepare current account for Nagesh in respect of 
the following transactions with Mahesh: 

2014  Rs. 
Sep. 16 Goods sold to Mahesh 400  

(due 1st  Oct) 
Oct 1 Cash received from Mahesh 180 
Oct 21 Goods purchased from Mahesh 1,000  

(due 1st Dec.) 
Nov. 1 Paid to Mahesh 660 
Dec. 1 Paid to Mahesh 600 
Dec. 5 Goods purchased from Mahesh 1,000 

(due 1st Jan) 
Dec. 10 Goods purchased from Mahesh 440 

(due 1st Jan) 
01.01.15 Paid to Mahesh 1.200 
09.01.15 Goods sold to Mahesh 40 

(due 1st Feb.) 

 The account is to be prepared upto 1st Feb. 
Calculate @ 6% p.a. 



 UG–AS–1320 9

 R÷Ç öPõkUP¨£mkÒÍ ©÷Pæß Â£μ[PøÍ 
øÁzx |õ÷Pè–ß |øh•øÓ PnUøP u¯õº ö\´P. 
¤¨μÁ› 1 Áøμ PnUS u¯õ›UP¨£mkÒÍx. 
BsöhõßÔUS 6% Ámi°mk u¯õº ö\´P. 

2014  ¹. 

ö\¨. 16 ©÷PæØS ÂØÓ \μUS 400  

(AU÷hõ£º, 1 

uÁøn) 

AU. 1 ©÷Pæh® ö£ØÓ öμõUP® 180 

AU. 21 ©÷Pæh® C¸¢x Áõ[Q¯ 

öPõÒ•uÀ 

1,000  
(i\®£º, 1 

uÁøn) 

|Á. 1 ©÷PæØS ö\¾zv¯x 660 

i\. 1 ©÷PæØS ö\¾zv¯x 600 

i\. 5 ©÷Pæh® Áõ[Q¯  

ö£õ¸mPÒ 

1,000 
(áÚÁ›, 1 

uÁøn) 

i\. 10 ©÷Pæh® Áõ[Q¯ ö£õ¸mPÒ 440 

(i\®£º, 1 

uÁøn) 

01.01.15 ©÷PèØS ö\¾zv¯x 1.200 

09.01.15 ©÷PèØS ÂØÓ \μUS 40 
(¤¨μÁ›, 1 

uÁøn) 
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16. Aravinth and Brothers purchased a machinery for 
Rs.90,000 on 1st  April 2001. They spent Rs. 10,000 
for installation charges. But the machinery was 
brought into use from 1st  October 2001. It further 
purchased a machinery costing Rs.20,000 on  
1st  Jan. 2004. Accounts are closed 31st March 
every year. Depreciation is to be provided at the 
rate of 10% p.a. on written down value method. 
Prepare machinery account and depreciation 
account for 3 years. 

 2001 H¨μÀ 1, AßÖ AμÂ¢z Aßm ¤μuºì  
¹. 90,000 ©v¨¦ÒÍ C¯¢vμzøu Áõ[QÚõº. 
Aøu {ÖÄÁuØPõÚ ö\»ÄPÒ ¹. 10,000. A¢u 
C¯¢vμ® 2001 AU÷hõ£º 1. •uÀ 
£¯ß£kzu¨£mhx. A¢{ÖÁÚ® 2004 áÚÁ› 1, 
AßÖ ¹. 20,000 ©v¨¦ÒÍ ©ØöÓõ¸ C¯¢vμzøu 
Áõ[Q¯x. Bsk÷uõÖ® ©õºa – 31À PnUSPÒ 
•iUP ö£ÖQßÓÚ. Bsk÷uõÖ® ÷u´©õÚ® 10% 
SøÓ¢x ö\À ©v¨¦ •øÓ°À }UP¨£mhx. 
C¯¢vμ® PnUøP²®, ÷u´©õÚ® PnUøP²® 
‰ßÖ BskPÐUS u¯õ›UPÄ®. 

 
17. Differentiate between Hire Purchase System and 

Installment Payment System. 
ÁõhøP öPõÒ•uÀ •øÓ, ©ØÖ® uÁøn 
ö\¾zx® •øÓ BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION — JULY 2024. 

Commerce  

First Semester 

BUSINESS ECONOMICS  

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions  

in 100 words. 

All questions carry equal marks. 

1. Define economics. 

 ö£õ¸Íõuõμ® ÁøμÂ»UPn® u¸P. 

2. Give a note on production laws. 

 EØ£zv ÂvPøÍ¨ £ØÔ SÔ¨¦ u¸P. 

3. Why is supply in economics? 

 ö£õ¸ÍõuõμzvÀ ÁÇ[PÀ Hß? 

 UG–AS–1321 BCOSE–11/
  BCOSE–11C
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4. What are the elements of market structure? 

 \¢øu Pmhø©¨¤ß EmTÖPÒ ¯õøÁ? 

5. What is monetary policy? 

 £nÂ¯À öPõÒøP GßÓõÀ GßÚ? 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions  
in 200 words. 

All questions carry equal marks. 

6. State the objectives of theory of firm. 

 {ÖÁÚU ÷Põm£õmiß ÷|õUP[PøÍ TÖP. 

7. What are the determinants of cost? 

 AhUPzøu wº©õÛUS® PõμoPÒ ¯õøÁ? 

8. What is elasticity of supply? 

 ÁÇ[PÎÀ ö|QÌa] GßÓõÀ GßÚ? 

9. State the pricing strategies under oligopoly. 

 ]À÷»õº •ØÖ›ø©°ß Âø» {ºn°zu¼ß 
~qUP[PøÍ TÖP. 

10. What are three sources of income inequality? 

 Á¸©õÚ HØÓzuõÌÂß ‰ßÖ Buõμ[PÒ ¯õøÁ? 
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions  
in 500 words. 

All questions carry equal marks. 

11. Discuss the role of business economist. 

 ÁoP ö£õ¸Íõuõμ {¦n›ß £[S SÔzx ÂÁõv. 

12. Explain factors of production. 

 EØ£zv PõμoPøÍ ÂÍUSP. 

13. Elaborate in detail about demand forecasting 
methods. 

 ÷uøÁø¯ PoUS® •øÓPøÍ Â›ÁõP GÊxP. 

14. Explain the features of monopolistic competition. 

 HP÷£õP ÷£õmi°ß C¯À¦PøÍ ÂÍUSP. 

15. Explain the uses of national income. 

 ÷u]¯ Á¸©õÚzvß E£÷¯õP[PøÍ ÂÍUSP. 

16. Explain the importance of break-even analysis. 

 ö\»Ä Á¸©õÚ® \©¦ÒÎ°ß •UQ¯zxÁzøu 
ÂÍUSP. 

17. Explain the importance of public finance. 

 ö£õx {v •UQ¯zxÁ® £ØÔ ÂÍUSP. 

  

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION - JULY, 2024. 

Commerce  

Second Semester 

ADVANCED FINANCIAL ACCOUNTING 
Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions  
in 100 words. 

All questions carry equal marks. 

1. What is meant by Average clause? 
 \μõ\› Âv GßÓõÀ GßÚ? 

2. Who is called as consignor? 
 AÝ¨¦Úº GÚ AøÇUP¨£k£Áº ¯õº? 

3. Write the objectives of branch accounts. 
 QøÍU PnUSPÎß ÷|õUP[PøÍ GÊxP. 

4. What is the need for departmental accounts? 

 xøÓ\õº PnUSPÎß ÷uøÁ GßÚ? 

5. Define partnership. 

 Tmhõsø© ÁøμÂ»UPn® u¸P. 

 UG-AS-1322  BCOS-21
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PART B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. State the main principles of fire insurance. 

 w Põ¨¥miß •UQ¯ ÷Põm£õkPøÍ TÖP. 

7. What are the methods of accounting for joint 
ventures? 

 Tmk¨£[S {Ö©zvß PnUQk® •øÓPÒ 
¯õøÁ? 

8. The KM shoe company opened a branch at 
Chennai in 2000. From the following particulars 
prepare Chennai branch account for the 2000. 

       Rs. 

 Goods sent to branch    15,000 

 Cash sent to branch for expenses    6,000 

 Cash received from the branch  24,000 

 Stock on 31-12-2000      2,300 

 Petty cash in hand       40 
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 KM åý {ÖÁÚ® 2000 B® BsiÀ ö\ßøÚ°À 
J¸ QøÍø¯z vÓ¢ux. ¤ßÁ¸® 
ÂÁμ[PÎ¼¸¢x 2000 B® BsiØPõÚ 
ö\ßøÚU QøÍU PnUøPz u¯õ›UPÄ®. 

       ¹. 

 QøÍUS AÝ¨£¨£mh \μUS ©v¨¦  15,000 

 ö\»ÂØPõP QøÍUS AÝ¨£¨£mh öμõUP®   6,000 

 QøÍ°¼¸¢x ö£Ó¨£mh öμõUP®  24,000 

 31-12-2000 AßÖ \μUQ¸¨¦     2,300 

 øP°¸¨¦ μõUP®     40 

9. Apportion the following expenses on the basis of 
cost of goods sold ratio among the four 
departments A,B,C,D: Sales (Rs.) A-2,00,000;  
B-1,50,000; C-1,00,000; D-50,000; G.P Ratio: 20% 
on sales. Expenses: Salaries Rs.6,000: Rent 
Rs.1,500; Insurance Rs.1,300. 

 ¤ßÁ¸® |õßS xøÓPÎß (A,B,C,D) ö\»Ä 
ÂÁμ[PøÍ AhUP ÂØ£øÚø¯ Ai¨£øh¯õPU 
öPõsk ¤›UPÄ®: ÂØ£øÚ (¹.) : A-2,00,000;  
B-1,50,000; C-1,00,000; D-50,000; ö©õzu C»õ£ 
ÂQu® ÂØ£øÚ°ß «x 20%. ö\»ÂÚ[PÒ: 
\®£Í® ¹.6000: ÁõhøP ¹.1,500; Põ¨¥k 
¹.1,300. 
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10. A and B are partners in a business sharing profits 
in the ratio of 5:3. They decide to admit C into the 
firm giving him 1/6th share. Calculate the new 
profit sharing ratio and sacrificing ratio of the 
partners. 

 A ©ØÖ® B ÁoPzvÀ TmhõÎPÒ AÁºPÒ  
5:3 GßÓ ÂQuzvÀ u[PÐøh¯ C»õ£zøu 
£Qº¢x öPõÒQßÓÚº. ¦v¯ TmhõÎ C-ø¯ 
{ÖÁÚzvÀ ÷\ºzxU öPõsk AÁ¸US 1/6 £[øP 
ÂmkU öPõkUP AÁºPÒ •iÄ ö\´uÚº. 
TmhõÎPÎß ¦v¯ C»õ£ ÂQu® ©ØÖ® v¯õP 
ÂQuzøu PnURk ö\´P. 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Calcutta traders have taken out of fire policy of 
Rs.4,00,000 covering stock in trade. A fire occurred 
on 31st March, 2009 and their stock was destroyed 
with the exception of worth Rs.1,03,000. The 
following particulars are available from the book 
of accounts of the firm. 

        Rs. 
 Stock on 31st December, 2008  1,50,000 
 Purchases to the date of fire  6,50,000 
 Sales to the date of fire   4,50,000 
 Commission paid to the purchases 
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 Manager on purchase   2% 

 Carriage paid on purchase  4,000 

 Average gross profit on cost  50% 

 The policy was subject to average clause. You are 
required to calculate the amount of claim to be 
made against the insurance company. 

 öPõÀPzuõ ÁºzuPºPÒ 4,00,000 ¹£õ´ ©v¨¤»õÚ 
\μUSPÐUS w Põ¨¥k GkzxÒÍÚº.  
©õºa 31, 2009 AßÖ Kº w Â£zx HØ£mhx 
©ØÖ® AÁØÔÀ øP°¸¨¦ \μUS ¹.1,03,000 uÂμ 
AøÚzx \μUSPÐ® w Â£zvÀ ÷\u©øh¢ux. 
¤ßÁ¸® ÂÁμ[PÒ {ÖÁÚzvß PnUS¨ 
¦zuPzv¼¸¢x ö£Ó¨£mhÚ. 

  ¹. 

 i\®£º 31,2008 AßÖ øP°¸¨¦ \μUS 1,50,000 
 w Â£zx ÷uv Áøμ öPõÒ•uÀ  

 ö\´¯¨£mh \μUS   6,50,000 

 w Â£zx Áøμ ÂØ£øÚ   4,50,000 
 öPõÒ•uÀ ö\´¯ Pªåß öPõkUP¨£mhx 

 Áõ[S®÷£õx ÷©»õÍº   2% 

 öÁÎ yUS T¼    4,000 

 ö\»ÂÀ \μõ\› ö©õzu C»õ£® 50% 
 öPõÒøP \μõ\› ÂvUS Em£mhx. Põ¨¥mk 

{ÖÁÚzvØS GvμõP }[PÒ ÷Põ¸® öuõøPø¯ 
PnUQkP. 
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12. Explain the differences between joint venture and 
consignment. 

 Tmk¨ £[S {Ö©zvØS \μUS ©v¨¤ØUS® EÒÍ 
÷ÁÖ£õkPøÍ ÂÍUSP. 

13. A BV Ltd. has a branch at Chennai and invoices 
goods at costs plus 25%. Branch sells the goods for 
both cash and credit. Branch expenses are paid by 
Head Office. From the following particulars, 
prepare Branch stock A/C, Branch Debtors A/C, 
Branch Expenses A/C and Branch Adjustment 
A/C. 

  
Particulars Rs. 

Branch Stock on 1-1-2015 at invoice price 80,000

Branch Debtors on 1-1-2015 40,000

Branch Petty cash on 1-1-2015 5,000

Branch Furniture on 1-1-2015 60,000

Goods invoiced during the year 2015 2,20,000

Goods returned by branch 8,000

Credit sales by branch 2,50,000

Cheques sent to branch during 2015:  

For Salaries 20,000

For Rent 10,000

For Petty cash 3,000

Cash sales by branch 1,00,000
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Cash collected by branch from debtors 90,000

Goods returned by debtors to branch 4,000

Discount allowed to debtors 5,000

Bad debts 1,000

Branch stock at invoice price (on 31-12-2015) 1,00,000

Branch Petty cash balance (on 31-12-2015) 2,000

 Depreciate furniture at 10% per annum. 

 BV ¼ªöhm ö\ßøÚ°À J¸ QøÍø¯U 
öPõskÒÍx ©ØÖ® 25% AhUP Tmk C»õ£ 
ÂQuzvÀ ö£õ¸mPøÍ ÂØ£øÚ ö\´QÓx. QøÍ 
öμõUP® ©ØÖ® Phß BQ¯ CμsiØS® 
ö£õ¸mPøÍ ÂØQÓx. QøÍ ö\»ÄPøÍ uø»ø© 
A¾Á»P® ö\¾zxQÓx. ¤ßÁ¸® 
ÂÁμ[PÎ¼¸¢x, QøÍa \μUS PnUS, QøÍU 
PhÚõÎPÒ PnUS, QøÍa ö\»ÄPÒ PnUS 
©ØÖ® QøÍa \›ö\´uÀ PnUS BQ¯ÁØøÓz 
u¯õ›UPÄ®. 

ÂÁμ[PÒ ¹. 

1-1-2015 AßÖ QøÍa \μUS ÂØ£øÚ Âø» 80,000

1-1-2015 AßÖ QøÍU PhÚõÎPÒ 40,000

1-1-2015 AßÖ QøÍ ö£mi öμõUP® 5,000

1-1-2015 AßÖ QøÍ C¸UøPPÎß ©v¨¦ 60,000

2015 B® Bsk \μUS ÂØ£øÚ ö\´ux 2,20,000

QøÍ v¸¨¤ AÝ¨¤¯ ö£õ¸mPÎß ©v¨¦ 8,000
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QøÍ Phß ÂØ£øÚ 2,50,000

2015 B® Bsk QøÍUS 
ö\»ÂÚ[PÐUPõP Põ÷\õø» AÝ¨£¨£mhx

 

\®£Í® 20,000
ÁõhøP 10,000
ö£mi öμõUP® 3,000
QøÍ öμõUP ÂØ£øÚ 1,00,000
PhÚõÍºPÎhª¸¢x QøÍ ö£ØÓ öμõUP® 90,000
PhÚõÍºPÒ QøÍUS v¸¨¤¯ \μUS ©v¨¦ 4,000
PhÚõÍºPÐUS ÁÇ[Q¯ uÒÐ£i 5,000
ÁõμõU Phß 1,000
(31-12-2015) AßÖ QøÍa \μUS ÂØ£øÚ 
Âø»  
 

1,00,000

(31-12-2015) AßÖ QøÍ ö£mi öμõUP®  2,000
 C¸UøPPÒ «x 10 \uÃu® ÷u´©õÚ® 

PnUQhÄ®. 

14. M/s. Sai cloth stores submitted the following 
particulars and information about their 
department stores for the year ended  
31st December 2003. 

Particulars Hosiery 
(Rs.) 

Garments
(Rs.) 

Cloth 
(Rs.) 

Opening stock 33,000 27,000 1,05,000
Purchase less returns 90,000 60,000 2,25,000
Sales less returns 1,80,000 1,20,000 2,70,000
Wages 15,000 9,000 - 
Closing stock 21,000 72,000 81,000
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 Expenses Paid : 
 Salaries-Rs.60,000; Rent-Rs.10,800; Printing 

Rs.4,800; Electricity-Rs.2,160; Sundry  
Expenses-Rs.2,850. 

 (a) Transfers from cloth department to hosiery 
Rs.6,000 and to Garments Rs.63,000 

 (b) Salaries Rs.48,000 were paid to 20 salesmen 
on an uniform scale. The number of salesmen 
in the three departments was 4,5,11 
respectively. Allocate the remaining salary in 
equal proportion to the three departments. 

 (c) Space occupied by the department was equal 
 (d) Printing expenses were to be apportioned in 

1: 1:2 ratios respectively. 
 (e) The electricity points in each department 

were 3,4 and 9 respectively. Prepare the 
department trading and profit and loss 
account for the year ended 31st  
December 2003. 

 M/s. \õ´ xoUPøh i\®£º 31, 2003 CÀ 
•iÁøh¢u BsiØPõÚ ¤ßÁ¸® ÂÁμ[PÒ 
©ØÖ® AÁØÔß £Àö£õ¸Ò A[PõiPøÍ¨ £ØÔ¯ 
ÂÁμ[PÒ ¤ßÁ¸©õÖ. 

ÂÁμ[PÒ EÒÍõøh 

(¹.) 

BøhPÒ

(¹. 

xoPÒ

(¹.) 

öuõhUP \μUQ¸¨¦ 33,000 27,000 1,05,000

{Pμ öPõÒ•uÀ 90,000 60,000 2,25,000
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{Pμ ÂØ£øÚ 1,80,000 1,20,000 2,70,000

T¼ 15,000 9,000 - 

CÖv \μUS 21,000 72,000 81,000

 ö\¾zu¨£mh ö\»ÄPÒ: 

 \®£Í® & ¹.60,000;ÁõhøP&¹.10,800; Aa]kuÀ&¹.4,800; 
ªß\õμ®&¹.2,160; £À÷ÁÖ ö\»ÄPÒ&¹.2,850. 

 (A) xoz xøÓ°¼¸¢x EÒÍõøhUS 
Ch©õØÓ® ¹.6,000 ©ØÖ® BøhPÒ xøÓUS 
¹.63,000 

 (B) 20 ÂØ£øÚ¯õÍºPÐUS J÷μ ©õv›¯õÚ 
AÍÂÀ ¹.48,000 \®£Í® ÁÇ[P¨£mhx. 
‰ßÖ xøÓPÎ¾® ÂØ£øÚ¯õÍºPÎß 
GsoUøP •øÓ÷¯ 4,5,11. «u•ÒÍ 
\®£Ízøu ‰ßÖ xøÓPÐUS® \© ÂQuzvÀ 
JxUS[PÒ. 

 (C) ‰ßÖ xøÓPÍõÀ BUQμªUP¨£mh Ch® 
\©® 

 (D) Aa]k® ö\»ÄPÒ •øÓ÷¯ 1:1:2GßÓ 
ÂQuzvÀ ¤›UP¨£h ÷Ásk® 

 (E) JÆöÁõ¸ xøÓ°¾® ªß\õμ¨ ¦ÒÎPÒ 
•øÓ÷¯ 3, 4 ©ØÖ® 9. 

  i\®£º 31, 2003 CÀ •iÁøh¢u 
BsiØPõÚ xøÓ ÁºzuP® ©ØÖ® C»õ£ 
|mhU PnUøPz u¯õ›UPÄ®. 
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15. M, N and P are partners sharing profits and losses 
as to 2:2:1. Their balance sheet as at 30.09.1986 
was as follows. 

Liabilities   Rs. Assets Rs. 

Creditors   4,000 Bank 5,000

Capitals:    Debtors 4,000

M 20,000   Stock 15,000

N 10,000   Furniture 2,000

P 7,000  37,000 Machinery 15,000

   41,000  41,000

 They decided to dissolve of the firm on 1-10-1986. 

 (a) The assets realised as follows: Machinery 
Rs.16,100; Furniture Rs.1000; Stock 
Rs.14,000; Debtors Rs.3,500. 

 (b) Creditors were paid after obtaining a 
discount of 5%. 

 (c) M agreed to bear all the realisation expenses 
for which he was remunerated Rs.1,200. 
Actual expenses amounted to Rs.2,000 which 
was withdrawn by him from the firm. 

 (d) There was an unrecorded asset of Rs.500 
which was taken over by N for Rs.400. Close 
the books of the firm. 
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 M, N ©ØÖ® P BQ¯øÁ 2:2:1 GßÓ ÂQuzvÀ 
C»õ£® ©ØÖ® |èh[PøÍ¨ £Qº¢x öPõÒÐ® 
TmhõÎPÒ. 30.09.1986 CÀ AÁºPÎß 
C¸¨¦{ø» ¤ßÁ¸©õÖ C¸¢ux. 

ö£õÖ¨¦PÒ   ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõºPÒ   4,000 Á[Q 5,000

•uÀ:    PhÚõÍºPÒ 4,000

M 20,000   \μUQ¸¨¦ 15,000

N 10,000   C¸UøPPÒ 2,000

P 7,000  37,000 C¯¢vμ® 15,000

   41,000  41,000

 AÁºPÒ 1&10&1986 AßÖ {ÖÁÚzøu Pø»UP 
•iÄ ö\´uÚº. 

 (A) ¤ßÁ¸©õÖ Enμ¨£mh ö\õzxUPÒ: 
C¯¢vμ[PÒ ¹.16,100; C¸UøPPÒ ¹.1,000; 
\μUQ¸¨¦ ¹.14,000; PhÚõÎPÒ ¹.3,500. 

 (B) PhÜ¢÷uõºPÎÀ 5% uÒÐ£i Qøhzux. 

 (C) ¹.1,200 wºÄUPõÚ ö\»ÄPÒ BS® Aøu  
M HØÖU öPõshõº ©ØÖ® ¹.2,000 AÁº 
{ÖÁÚzv¼¸¢x CuØPõP ö£ØÓõº.  

 (D) £vÄ ö\´¯¨£hõu ¹.500 ©v¨¦ÒÍ ö\õzx 
C¸¢ux, Aøu ¹.400US  
N øP¯P¨£kzvÚõº. {ÖÁÚzvß Pø»¨¦ 
¦zuP[PøÍ u¯õº ö\´P. 
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16. State the procedure for preparation of 
departmental accounts. 

 xøÓÁõ› PnUSPøÍ u¯õº ö\´²® 
ÁÈ•øÓPøÍU TÖP. 

17. Anbu, Banu and Chandran were carrying on 
business in a firm sharing profits and losses in the 
ratio of 3:2:1 respectively. On 31st December 2002, 
the balance sheet of the firm stood as follows. 

Liabilities  Rs. Assets Rs. 

Sundry 
Creditors 

 13,590 Bank 5,900 

Capitals:   Debtors 8,000 

Anbu 15,000  Stock 11,690

Banu 10,000  Buildings 23,000

Chandran 10,000 35,000   

  48,590  48,590

 Banu retired on the above date and following 
terms were agreed upon. 

 (a) Buildings be appreciated by Rs.7,000. 
 (b) Provision for bad debts be made at 5% on 

debtors. 
 (c) Goodwill of the firm be valued at Rs.9,000. 

 (d) Rs.5,000 be paid to Banu immediately and 
the balance due to him be treated as the loan 
account carrying interest at 6% pa. 

 Prepare ledger accounts in the books of the firm 
and show balance sheet after Banus retirement. 
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 Aß¦, £õÝ ©ØÖ® \¢vμß BQ÷¯õº •øÓ÷¯ 
3:2:1 GßÓ ÂQuzvÀ C»õ£ |èhzøu¨ £Qº¢x 
öPõsk ÁoPzøu |hzv Á¢uÚº. 31 i\®£º 
2002 AßÖ, {ÖÁÚzvß C¸¨¦{ø» ¤ßÁ¸©õÖ 
C¸¢ux. 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõºPÒ  13,590 Á[Q 5,900 

•uÀ:   PhÚõÍºPÒ 8,000 
Aß¦ 15,000  \μUQ¸¨¦ 11,690
£õÝ 10,000  Pmih® 23,000

\¢vμß 10,000 35,000   

  48,590  48,590
 £õÝ ÷©ØPsh ÷uv°À K´Ä ö£ØÓõº ©ØÖ® 

¤ßÁ¸® {£¢uøÚPÒ J¨¦U öPõÒÍ¨£mhÚ. 

 (A) Pmih[PÒ ¹.7,000 ©v¨¤À E¯ºÄ ö£ØÓx. 

 (B) PhÚõÎPÐUS 5% GßÓ AÍÂÀ ÁõμõU 
PhßPÒ JxURk ÷Ásk®. 

 (C) {ÖÁÚzvß |Àö»sn ©v¨¦ ¹.9,000. 

 (D) £õÝÄUS EhÚi¯õP ¹.5,000 ö\¾zu¨£mk, 
AÁ¸US ö\¾zu ÷Ási¯ {¾øÁz 
öuõøP¯õÚx 6% Ámi²hß Ti¯ Phß 
PnUPõPU P¸u¨£k®. 

 {ÖÁÚzvß ¦zuP[PÎÀ ÷£÷μk PnUSPøÍz 
u¯õ›zx, £õÝÂß K´ÄUS¨ ¤ÓS C¸¨¦{ø»U 
SÔ¨ø£U PõmhÄ®. 

–––––––––– 



  

 

 

U.G. DEGREE EXAMINATION – JULY 2024. 

Commerce 

Second Semester 

BUSINESS COMMUNICATION 

Time : 3 hours Maximum  marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions  

in 100 words. 

1. Define Communication.  

 uPÁÀ öuõhº¦PøÍ Áøμ¯ÖUPÄ®. 

2.  Write Short Notes : Offers. 

 ]Ö SÔ¨¦PøÍ GÊx[PÒ : \¾øPPÒ. 

3. What is Fire Insurance? 

 w Põ¨¥k GßÓõÀ GßÚ? 

 UG-AS-1323 BCOS-22



 UG-AS-1323 2

4. Write a Short note on Report? 

 AÔUøP £ØÔ¯ ]Ö SÔ¨ø£ GÊxP. 

5. What is Group Discussion? 

 SÊ ÂÁõu® GßÓõÀ GßÚ? 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions  
in 200 words 

6. Briefly explain the Process of Communication. 

 uPÁÀöuõhº¦ ö\¯À•øÓø¯ _¸UP©õP 
ÂÍUS[PÒ. 

7. How to write effective Collection letters?  

 £¯ÝÒÍ ÷\P›¨¦ Piu[PøÍ GÊxÁx G¨£i? 

8. Why are agencies needed? 

 •PÁºPÒ Hß ÷uøÁ? 

9. What are the advantages of meeting? 

 \¢v¨¤ß (Tmh[PÎß) |ßø©PÒ GßÚ? 

10. What are uses of E-mail? 

 ªßÚg\¼ß £¯ßPÒ GßÚ? 
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

11. Explain the Barriers of Communication. 

 uPÁÀöuõhº¦ uøhPøÍ ÂÍUS[PÒ. 

12. Explain the Good Features of Business Letter.  

 ÁoPU Piuzvß |À» A®\[PøÍ ÂÍUSP. 

13. Explain the features of correspondence in the 
Banking Industry. 

 Á[Qz xøÓ°À Piu¨ £›©õØÓzvß A®\[PøÍ 
ÂÍUSP. 

14. Briefly Explain the Characteristics of good Report. 

 |À» AÔUøP°ß ]Ó¨¤¯À¦PøÍ _¸UP©õP 
ÂÍUSP. 

15. Explain the Types of Interview. 

 ÷|ºPõn¼ß ÁøPPøÍ ÂÍUSP. 

16. Explain the Benefits of Life Insurance. 

 B²Ò Põ¨¥miß |ßø©PøÍ ÂÍUSP. 

17. Explain the need for a Business Letter. 

 ÁoPU Piuzvß AÁ]¯zøu ÂÍUSP. 

––––––––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
JULY 2024. 

Commerce 

Second Semester 

ORGANISATIONAL BEHAVIOUR 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five question in 
100 words. 

All questions carry equal marks. 

1. Define Learning? 

 PØÓø» Áøμ¯ÖUPÄ®. 

2. What is Value of Personality? 

 BÐø©°ß ©v¨¦ GßÚ? 

3. What is Stress Management? 

 ©Ú AÊzu ÷©»õsø© GßÓõÀ GßÚ? 

 UG–AS–1324 BCOSE–21
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4. Define Organizational Change. 

 {ÖÁÚ ©õØÓzøu Áøμ¯ÖUPÄ®. 

5. What are importance of Group Dynamics? 

 SÊ C¯UPÂ¯¼ß •UQ¯zxÁ® GßÚ? 

PART B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Explain Concept of Organisational Behaviours. 

 {ÖÁÚ |hzøuPÎß P¸zøu ÂÍUS[PÒ. 

7. Explain the Determinants of Personality. 

 BÐø©°ß wº©õÚ[PøÍ ÂÍUS[PÒ. 

8. What is Manager? Difference between Leader and 
Manager? 

 ÷©»õÍº GßÓõÀ GßÚ? uø»Á¸US® 
÷©»õÍ¸US® EÒÍ ÷ÁÖ£õk? 

9. Write a short note on Organisational Structure. 

 {ÖÁÚ Aø©¨¦ £ØÔ¯ ]Ö SÔ¨¦PøÍ GÊxÄ®. 

10. Explain the function of Informal Groups. 

 •øÓ\õμõ SÊUPÎß ö\¯À£õmøh ÂÍUSP. 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Define Emotional Intelligence? What are the 
Benefits of Emotional Intelligence? 

 Enºa] ~snÔøÁ Áøμ¯ÖUPÄ®? Enºa] 
~snÔÂß |ßø©PÒ GßÚ? 

12. Elaborate of Maslow’s Need hierarchy theory. 

 ©õì÷»õÂß ÷uøÁ £i{ø»U ÷Põm£õmiß 
Â›ÁõUP®. 

13. Discuss the Common Leadership Styles. 

 ö£õxÁõÚ uø»ø©zxÁ £õoPøÍ £ØÔ 
ÂÁõvUPÄ®. 

14. Briefly Explain the Change Process of Kurt 
Lewin’s model. 

 Pºm ö»Âß ©õv›°ß ©õØÓ ö\¯À•øÓø¯ 
_¸UP©õP ÂÍUS[PÒ. 

15. Briefly Explain the Elements of Group 
Behaviours. 

 SÊ |hzøuPÎß TÖPøÍ _¸UP©õP ÂÍUS[PÒ. 
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16. What is the Difference Between Organisational 
Behaviour and Culture? 

 {ÖÁÚ |hzøu ©ØÖ® P»õa\õμ® Cøh÷¯ EÒÍ 
÷ÁÖ£õk GßÚ? 

17. Explain the Good qualities of Leadership? 

 uø»ø©zxÁzvß |À» £s¦PøÍ ÂÍUSP. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
JULY 2024. 

Commerce 

Third Semester 

BUSINESS LAW 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. Define Contract. 

 J¨£¢uzøu Áøμ¯ÖUPÄ®. 

2. What is an acceptance? 

 HØÖ öPõÒÐuÀ GßÓõÀ GßÚ? 

3. What do you mean by quasi contract? 

 J¨£¢u ÷£õÀÄ GßÓõÀ GßÚ? 

 UG-AS-1325 BCOS-31
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4. Who is a bailee? 

 ¤øn¯õøn & Gß£Áº ¯õº? 

5. Explain the term stale cheque. 

 £øÇ¯ Põ÷\õø» GßÓ ö\õÀø» ÂÍUSP. 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Explain the features of cheque. 

 Põ÷\õø»°ß A®\[PøÍ ÂÍUPÄ®. 

7. Differentiate between particular lien and general 
lien. 

 SÔ¨¤mh E›ø© ©ØÖ® ö£õx E›ø©ø¯ 
÷ÁÖ£kzx. 

8. Write a short note on quantum meruit. 

 Dmi¯ öuõøP £ØÔ J¸ ]Ö SÔ¨ø£ GÊuÄ®. 

9. Explain different types of contract. 

 £À÷ÁÖ ÁøP¯õÚ J¨£¢u[PøÍ ÂÍUS. 

10. Name some persons other than minor who are not 
competent to contract. 

 J¨£¢u® ö\´¯z uSv°À»õu ø©Úº AÀ»õu ]» 
|£ºPÎß ö£¯øμU SÔ¨¤hÄ®. 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Explain the essential elements of a valid contract. 

 ö\À¾£i¯õS® J¨£¢uzvß Azv¯õÁ]¯ 
TÖPøÍ ÂÍUS[PÒ. 

12. Explain the various flaws in consent. 

 Cø\Ä SøÓ£õmiøÚ ÂÍUSP. 

13. Describe the remedies available for breach of 
contract. 

 J¨£¢uzøu «ÖÁuØPõÚ wºÄPøÍ ÂÁ›UPÄ®. 

14. Briefly explain the rights and duties of bailor and 
bailee. 

 ¤øn Gk¨£Áº ©ØÖ® ¤øn¯õÍ›ß E›ø©PÒ 
©ØÖ® Phø©PøÍ _¸UP©õP ÂÍUPÄ®. 

15. Differentiate between Cheque and Bill of 
Exchange. 

 Põ÷\õø» ©ØÖ® £›ÁºzuøÚ ¤À BQ¯ÁØÖUS 
Cøh÷¯ ÷ÁÖ£kzx[PÒ. 
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16. Explain the agreements expressly declared to be 
void by the contract act. 

 J¨£¢u \mhzvß ‰»® ö\À»õx GßÖ 
öÁÎ¨£øh¯õP AÔÂUP¨£mh J¨£¢u[PøÍ 
ÂÍUS. 

17. State the doctrine of Caveat Emptor and 
exceptions to it. 

 ~Pº÷Áõº áõUQμøu ÷Põm£õmøh²® AuØS 
ÂvÂ»USPøÍ²® TÓÄ®. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION – JULY 2024. 

Commerce 

Third Semester 

COST ACCOUNTING 

Time : 3 hours Maximum  marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions  
in 100 words. 

1. Define Cost Accounting.  
 AhUPÂø» PnUQ¯ø» Áøμ¯ÖUPÄ®. 

2. What is Just- In- Time Inventory System.  

 JIT \μUS Aø©¨¦ GßÓõÀ GßÚ? 

3. Define Overtime. 
 TkuÀ ÷|μzøu Áøμ¯ÖUPÄ®. 

4. What is Job Costing?  
 ÷Áø» ö\»Ä GßÓõÀ GßÚ?  

5. What is Standard Cost? 
 {ø»¯õÚ ö\»Ä GßÓõÀ GßÚ? 

 UG-AS-1326 BCOS-32
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SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions  
in 200 words 

6. What are limitation of Cost Accounting? 
 AhUPÂø» PnUQß Áμ®¦ GßÚ? 

7. A refrigerator manufacturer, Purchases 1,600 
units of a certain component. His annual usage is 
1,600 units. The order placing cost is Rs.100 and 
the cost of carrying one unit for a year is Rs.8 
Calculate the Economic Order Quantity.  

 J¸ SÎº \õuÚ¨ö£mi EØ£zv¯õÍº, J¸ 
SÔ¨¤mh TÖPÎß 1,600 A»SPøÍ Áõ[SQÓõº. 
AÁμx Bsk £¯ß£õk 1,600 A»SPÒ. Bºhº 
øÁ¨£uØPõÚ ö\»Ä ¹.100 ©ØÖ® J¸ 
Á¸hzvØS J¸ ³Ûmøh Gkzxa ö\ÀÁuØPõÚ 
ö\»Ä ¹.8 BS®. ö£õ¸Íõuõμ Bºhº AÍøÁU 
PnUQhÄ®. 

8. From the following details calculate factory cost of 
the job using machine hour rate. 

 Rs.

Materials used 36,000

Direct labour cost 30,000

Factory overhead 25,000

Direct labour cost 24,000

Hours of Machine operation 20,000

 An order requires materials Rs.2,000,  
Labor – Rs.1,650 and the machine to be used for 
1200 Hours. 



 UG-AS-1326 3

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x C¯¢vμ ©o ÷|μ 
ÂQuzøu£ £¯ß£kzv ÷Áø»UPõÚ öuõÈØ\õø» 
ö\»øÁU PnUQk[PÒ. 

 ¹.

£¯ß£kzv¯ ö£õ¸mPÒ 36,000

÷|μi öuõÈ»õÍº ö\»Ä 30,000

öuõÈØ\õø» ÷©À{ø» 25,000

÷|μi öuõÈ»õÍº ö\»Ä 24,000

C¯¢vμ® ö\¯À£k® ÷|μ® 20,000

 Bºh¸US ö£õ¸mPÒ ¹.2,000, EøÇ¨¦–¹.1,650 
©ØÖ® C¯¢vμ® 1200US ©o £¯ß£kzu 
÷Ásk®. 

9. How does job costing differ from contract costing? 
 ÷Áø»a ö\»Ä J¨£¢u ö\»Â¼¸¢x GÆÁõÖ 

÷ÁÖ£kQÓx? 

10. What are the Advantages of Standard Costing? 
 {ø»¯õÚ ö\»Âß |ßø©PÒ GßÚ? 

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

11. Distinguish between Cost Accounting and 
Financial Accounting. 

 AhUPÂø» PnUQ¯À ©ØÖ® {v{ø»U 
PnUQ¯À BQ¯ÁØÖUS Cøh÷¯ EÒÍ 
÷ÁÖ£õk. 

12. What are the various types of stores edgers?  
 £À÷ÁÖ ÁøP¯õÚ \μUQ¸¨¦ ÷£÷μk ¯õøÁ? 
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13. Explain the various types of overhead rates. 

 £À÷ÁÖ ÁøP¯õÚ ÷©Øö\»Ä Âø»PøÍ 

ÂÍUS[PÒ 

14. The product of a manufacturing concern passes 

through two processes A and B and then to 

finished stock. It is ascertained that in each 

process normally 5% of the total weight is lost and 

10% is scrap which form processes A and B 

realizes Rs.80 per ton and Rs.200 Per ton 

respectively. 

 The following are the figures relating to both the 

processes. 

 Process AProcess B

Material in toss 1,000 70

Cost of materials per ton in rupees 125 200

Wages in rupees 28,000 10,000

Manufacturing expenses in rupees 8,000 5,250

Output in tons 830 780

 Prepare process Cost Account Showing cost per 

ton of each process. There was no stock or work in 

Process in any Process. 
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 J¸ EØ£zv PÁø»°ß u¯õ›¨¦ A ©ØÖ® B BQ¯ 
Cμsk ö\¯À•øÓPÒ ÁÈ¯õPÄ® ¤ßÚº 
•iUP¨£mh C¸¨¦US ö\ÀQÓx. JÆöÁõ¸ 
ö\¯À•øÓ°¾® ö£õxÁõP ö©õzu Gøh°À 5% 
CÇUP¨£kQÓx ©ØÖ® 10% ìUμõ¨ BS®, Cx  
A ©ØÖ® B ö\¯À•øÓPÒ •øÓ÷¯ hß JßÖUS 
¹.80 ©ØÖ® ¹.200 BP EÒÍx. 

 ¤ßÁ¸® Cμsk ö\¯À•øÓPÒ öuõhº£õÚ 
¦ÒÎÂÁμ[PÒ EÒÍÚ. 

 ö\¯À•øÓ Aö\¯À•øÓ B

hßPÎÀ ö£õ¸Ò 1,000 70
J¸ hß ö£õ¸mPÎß Âø» ¹.125 ¹.200

T¼ ¹£õ´ ¹.28,000 ¹.10,000

EØ£zv ö\»ÄPÒ ¹.8,000 ¹.5,250

hßPÎÀ öÁÎ±k 830 780
 ö\¯À•øÓ ö\»ÄU PnUøPz u¯õ›UPÄ®, 

JÆöÁõ¸ ö\¯À•øÓUS® J¸ hß Âø»ø¯U 
PõmkQÓx. G¢ua ö\¯À•øÓ°¾® ö\¯À£õmiÀ 
C¸¨¦ AÀ»x ÷Áø» CÀø». 

15. Calculate Material Cost Variance, Material 
Quantity Variance and Material Price Variance 
from the Following: 

Material Standard Actual 

 Qty. Rate (Rs.) Qty. Rate (Rs.)

X 1,000 6 1,100 7 

Y 700 10 600 8 



 UG-AS-1326 6

 ¤ßÁ¸ÁÚÁØÔÀ C¸¢x ö£õ¸Ò ö\»Ä 

©õÖ£õk, ö£õ¸Ò AÍÄ ©õÖ£õk ©ØÖ® ö£õ¸Ò 

Âø» ©õÖ£õk BQ¯ÁØøÓU PnUQhÄ®. 

  

ö£õ¸Ò uμ{ø» Esø©¯õÚ 

 AÍÄ Âø» (¹.) AÍÄ Âø» (¹.)

X 1,000 6 1,100 7 

Y 700 10 600 8 

16. You are required to compile a statement showing 

cost and profit from the information given showing 

clearly  

 (a) Material Consumed  

 (b) Prime Cost  

 (c) Work Cost 

 (d) Cost of production 

 (e) Cost of sales 

 (f) Profit 

 (g) Sales 
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 Rs.

Materials Purchases 50,000

Wages 10,000

Direct Expenses 4,000

Opening Stock of raw materials 10,000

Closing Stock of raw materials 20,000

 Factory over head is absorbed at 20% on wages, 

Administrative overhead is 25% on the work cost, 

selling and distribution overheads are 10% on the 

cost production. Profit is 20% on sales. 

 öPõkUP¨£mh uPÁÀPÎ¼¸¢x ö\»Ä ©ØÖ® 

»õ£zøuU Põmk® AÔUøPø¯ }[PÒ öuõSUP 

÷Ásk® 

 (A) ö£õ¸Ò ~Pμ¨£mhx 

 (B) ¤μu© ö\»Ä 

 (C) ÷Áø»a ö\»Ä 

 (D) EØ£zva ö\»Ä 

 (E) ÂØ£øÚa ö\»Ä 

 (F) »õ£® 

 (G) ÂØ£øÚ 
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 ¹.

ö£õ¸mPÒ öPõÒ•uÀ 50,000

T¼ 10,000

÷|μi ö\»ÄPÒ 4,000

‰»¨ö£õ¸mPÎß öuõhUP C¸¨¦ 10,000

‰»¨ö£õ¸mPÎß CÖv C¸¨¦ 20,000

 öuõÈØPõø»°ß uø»US÷©À 20% Fv¯zvÀ 

EÔg\¨£kQÓx, {ºÁõP ÷©À{ø» ÷Áø» 

ö\»ÂÀ 25%, ÂØ£øÚ ©ØÖ® Â{÷¯õP 

÷©À{ø»PÒ ö\»Ä EØ£zv°À 10% BS®. 

ÂØ£øÚ°À »õ£® 20%. 

17. Explain ABC analysis for material control. 

 ö£õ¸Ò Pmk¨£õmkUPõÚ ABC £S¨£õ´øÁ 

ÂÍUPÄ®. 

––––––––––––––– 



  

 

 

U.G. DEGREE EXAMINATION - JULY, 2024. 

Commerce  

Third Semester 

BUSINESS STATISTICS 
Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions  
in 100 words. 

All questions carry equal marks. 

1. What are the limitation of statistics? 

 ¦ÒÎ ÂÁμ[PÎß Áμ®¦PÒ ¯õøÁ? 

2. Find the range and co-efficient of range for the 
heights of 7 students of a class. 

 158,160, 165, 166, 168, 170, 173 

 J¸ ÁS¨¤ß 7 ©õnÁºPÎß E¯μzvØPõÚ Áμ®¦ 
©ØÖ® CønvÓß BQ¯ÁØøÓU PshÔ¯Ä®.  

 158,160, 165, 166, 168, 170, 173 

3. What are the types of correlation?  

 öuõhº¦PÎß ÁøPPÒ ¯õøÁ? 

 UG-AS-1327  BCOSE-31
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4. What are characteristics of index number?  

SÔ±mk Gsoß £s¦PÒ ¯õøÁ? 

5. What is a time series? 

÷|μz öuõhº GßÓõÀ GßÚ? 

PART B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. The following are the data of monthly wages in 
Rupees. 

Wages 40-60 60-80 80-100 100-120 120-140 140-160 

No. of 
Workers 

6 4 5 8 3 4 

 The company gives bonus of Rs.5, 10, 15, 20,  
25, 30 for individuals in the respective wage 
groups of 40-6-60-80 and soon up to 140-160. Find 
the average bonus paid by the company to it’s 
worker. 

 {ÖÁÚ® ÷£õÚì ¹. 5, 10, 15, 20, 25, 30 40-6-, 
60-80 ©ØÖ® 140&160 Áøμ A¢u¢u Fv¯ 
SÊUPÎÀ uÛ|£ºPÐUS {ÖÁÚ® uÚx 
£o¯õÍ¸US ÁÇ[Q¯ \μõ\› ÷£õÚøéU 
PshÔ¯Ä®. 

 ©õu T¼ ¹. ÂÁμ[PÒ ¤ßÁ¸©õÖ 
öPõkUP¨£mkÒÍx. 

T¼ 40-60 60-80 80-100 100-120 120-140 140-160 

öuõÈ»õÍºPÎß 
GsoUøP 

6 4 5 8 3 4 
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7. Calculate mean deviation form mode for the 
following series. 

 18, 15, 20, 19, 26, 23, 18, 19, 18 

¤ßÁ¸® öuõh¸UPõÚ \μõ\› Â»PÀ £iÁ¨ 
£¯ß•øÓøø¯U PnUQhÄ® 18, 15, 20, 19, 26, 
23, 18, 19, 18. 

8. Explain the types of correction. 

 öuõhº¤ß ÁøPPøÍ ÂÍUS[PÒ. 

9. What do you mean by index number? 

 SÔ±mk Gs GßÓõÀ GßÚ? 

10. Calculate the 5 yearly moving average from the 
following data. 

Year 2001 2002 2003 2004 2005

No. of Students 705 685 703 687 705 

Year 2006 2007 2008 2009 2010

No. of Students 689 715 685 725 730 

 ¤ßÁ¸® uμÄPÎ¼¸¢x 5 Á¸h |P¸® \μõ\›ø¯U 
PnUQhÄ®. 

Bsk 2001 2002 2003 2004 2005
©õnÁºPÎß 
GsoUøP 

705 685 703 687 705 

Bsk 2006 2007 2008 2009 2010
©õnÁºPÎß 
GsoUøP 

689 715 685 725 730 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Explain the characteristics of statistics. 

¦ÒÎ ÂÁμ[PÎß £s¦PøÍ ÂÍUSP. 

12. Enumerate the advantages and disadvantages of 
range. 

Áμ®¤ß |ßø©PÒ ©ØÖ® wø©PøÍ ÂÍUSP. 

13. Find the Karl Pearson’s Coefficient of Correlation. 

X 6 2 10 4 8 
Y 9 11 5 8 7 

 PõºÀ ¤¯º\Ûß öuõhº¦ SnPzøuU PshÔ¯Ä®. 

X 6 2 10 4 8 
Y 9 11 5 8 7 

14. Calculate the Laspeyre’s Index: 

Types Price Quantity 
 2010 2014 2010 2014

X 9 15 5 5 
Y 4 12 10 11 

Z 1 5 6 6 
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 Laspeyre’s Cß SÔ±møhU PnUQhÄ®. 

ÁøPPÒ Âø» AÍÄ 

 2010 2014 2010 2014

X 9 15 5 5 

Y 4 12 10 11 

Z 1 5 6 6 

15. Explain the moving average method? What are 
merits and Demerits? 

|P¸® \μõ\› •øÓø¯ ÂÍUSP? |ßø©PÒ ©ØÖ® 
wø©PÒ ¯õøÁ? 

16. Following is the distribution of marks obtained by 
50 students in Business Statistics: 

 

Marks more than 0 10 20 30 40 

No. of Students 50 48 46 40 32 

Marks more than 50 60 70 80  

No. of Students 22 15 94   

 Find out the Median Marks. 
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 ÁoP ¦ÒÎ°¯À ¤›ÂÀ 50 ©õnÁºPÒ ö£ØÓ 
©v¨ö£sPÒ ¤ßÁ¸©õÖ: Cøh{ø» 
©v¨ö£sPøÍU PshÔ¯Ä®. 

AvP® ö£ØÓ 
©v¨ö£sPÒ 

0 10 20 30 40 

ö©õzu ©õnÁºPÒ 50 48 46 40 32 

AvP® ö£ØÓ 
©v¨ö£sPÒ 

50 60 70 80  

ö©õzu ©õnÁºPÒ 22 15 94   

17. Find the Mean Deviation for the following data: 

X 2 4 6 8 10 

F 1 4 6 4 1 

 ¤ßÁ¸® uμÄPÐUPõÚ \μõ\› Â»Pø»U 
PshÔ¯Ä®. 

X 2 4 6 8 10 

F 1 4 6 4 1 

 

––––––––––  

 

 

 



  

 

 

U.G. DEGREE EXAMINATION —  
JULY 2024. 

Commerce 

Fourth Semester 

PRINCIPLES OF MARKETING 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. Define Marketing. 

 \¢øu°¯À Áøμ¯ÖUPÄ®. 

2. What is Marketing Research? 

 \¢øu¨£kzuÀ Bμõ´a] GßÓõÀ GßÚ? 

3. What is CRM? 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø© GßÓõÀ GßÚ? 

 UG-AS-1328 BCOS-41
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4. What is Tangible Product? 

 EÖv¯õÚ u¯õ›¨¦ GßÓõÀ GßÚ? 

5. Write a Short Note on “Sales Promotion”. 

 ‘ÂØ£øÚ FUSÂ¨¦’ £ØÔ J¸ ]Ö SÔ¨ø£ 
GÊuÄ®. 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Clarify the Nature of Marketing. 

 \¢øu¨£kzu¼ß ußø©ø¯ öuÎÄ£kzx[PÒ. 

7. What are the Importance of Transportation? 

 ÷£õUSÁμzvß •UQ¯zxÁ® GßÚ? 

8. Consumer Buying Behavior-Explain. 

 ~Pº÷Áõº Áõ[S® |hzøu & ÂÍUP. 

9. What are types of Pricing Strategies? 

Âø» {ºn¯ EzvPÎß ÁøPPÒ ¯õøÁ? 

10. Short Note on Distribution Channel in Marketing. 

 \¢øu¨£kzu¼À Â{÷¯õP ÷\ÚÀ £ØÔ¯ ]Ö 
SÔ¨¦. 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Distinguish between Micro and Macro Marketing. 
 ø©U÷μõ ©ØÖ® ÷©U÷μõ ©õºUöPmi[ Cøh÷¯ 

÷ÁÖ£kzv £õºUPÄ®. 

12. Explain the Function of Marketing. 
 \¢øu¨£kzu¼ß ö\¯À£õmøh ÂÍUSP. 

13. What are the benefits of market segmentation? 
 \¢øu¨ ¤›Âß |ßø©PÒ GßÚ? 

14. Describe the different stages of Product Life Cycle. 
 ÁõÌUøP _ÇØ]°ß öÁÆ÷ÁÖ {ø»PøÍ 

ÂÁ›UPÄ®. 

15. Explain the various function of Middleman. 
 CøhzuμPº £À÷ÁÖ ö\¯À£õkPøÍ ÂÍUS[PÒ. 

16. What are the stages of New Product Development? 
 ¦x¨ö£õ¸Ò AÔ•P¨£kzu¼ß {ø»PÒ ¯õøÁ? 

17. Briefly Explain the Tele Marketing.  

 Tele Marketing I _¸UP©õP ÂÍUS[PÒ. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
JULY 2024 

Commerce 

Fourth Semester 

CORPORATE ACCOUNTING 

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. What is forfeiture of shares? 

 £[SPøÍ £Ô•uÀ ö\´Áx GßÓõÀ GßÚ? 

2. How will you calculate Sales Ratio? 

 ÂØ£øÚ ÂQuzøu GÆÁõÖ PnUQkÃºPÒ? 

3. Define goodwill. 

 |Øö£º & Áøμ¯ÖUP. 

 UG–AS–1329 BCOS-42
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4. Write a note on transfer of shares. 

 SÔ¨¦ ÁøμP.  £[S £›©õØÓ®. 

5. Write a note on dividend. 

 DÄzöuõøP SÔ¨¦ ÁøμP. 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Write about the types of underwriting. 

 J¨¦Öv°ß ÁøPPøÍ¨ £ØÔ GÊxP. 

7. From the following details calculate profit before 
and after incorporation. 
(a) Time ratio 3:4 

 (b) Sales ratio 2:3 
 (c) Gross profit Rs 5,00,000 
 (d) Expenses. 

 Salary: Rs.96,000 

 Discount: Rs.40,000 

 Rent:  Rs.15,000 

 General expenses: Rs.12,000 

 Advertisement: Rs.50,000 

 Directors fees : Rs.18,000 
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 ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x Cøn¨£uØS 
•ßÝ® ¤ßÝ® »õ£zøuU PnUQk[PÒ. 

 (A) ÷|μ ÂQu® 3:4 

 (B) ÂØ£øÚ ÂQu® 2:3 

 (C) ö©õzu »õ£® ¹.5,00,000 

 (D) ö\»ÄPÒ. 

 \®£Í® : ¹.96,000 

 uÒÐ£i : ¹.40,000 

 ÁõhøP : ¹.15,000 

 ö£õx ö\»ÄPÒ : ¹.12,000 

 ÂÍ®£μ® : ¹.50,000 

 C¯US|ºPÒ Pmhn® : ¹.18,000 

8. Calculate the amount of goodwill on the basis of 
three years purchase of the last five years profits. 
The profits for the last five years are: 

I Year Rs. 4,800 III Year Rs. 10,000 

 II Year Rs. 7,200 IV Year Rs. 3,000 

 V Year Rs. 5,000 

 Ph¢u I¢x Á¸h »õ£zvß ‰ßÖ Á¸h 
öPõÒ•uÀ Ai¨£øh°À öuõÈÀ |ß©v¨¤ß 
AÍøÁU PnUQkP.  Ph¢u I¢x Á¸h[PÎß 
»õ£®. 

 I Bsk ¹.4,800 III Bsk ¹.10,000 

 II Bsk ¹.7,200 IV Bsk ¹.3,000 

 V Bsk ¹.5,000 
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9. From the following information calculate the value 
per equity share: 

 Rs.5,000 8% preference shares of Rs.100 each 
5,00,000 

 75,000 equity shares of Rs. 10 each, Rs. 8 per 
share paid up 6,00,000 

 Expected profits per year before tax 2,80,000 

 Rate of tax 50% 

 Transfer to general reserve every year 20% of the 
profit 

 Normal rate of earning 10%. 

 ¤ßÁ¸® uPÁ¼¼¸¢x J¸ £[S ©v¨ø£U 
PnUQkP. 

 ¹.5,000 8% •ßÝ›ø© £[SPÒ ¹.100 
JÆöÁõßÖ® 5,00,000 

 75,000 \õuõμn £[SPÒ ¹. u»õ 10, J¸ £[QØS 
8 ¹£õ´ 6,00,000 Áøμ ö\¾zu¨£mhx. 

 Á›US •ß BskUS 2,80,000 »õ£® 
Gvº£õºUP¨£kQÓx. 

 Á› ÂQu® 50% 

 JÆöÁõ¸ Bsk® »õ£zvÀ 20% ö£õx C¸¨¦US 
©õØÓÄ® 

 \õuõμn Á¸Áõ´ ÂQu® 10%  
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10. What are the differences between profit and loss 
account and profit and loss appropriation account? 

 »õ£®&CÇ¨¦ PnUS ©ØÖ® »õ£® & CÇ¨¦ 
JxURmk PnUS BQ¯ÁØÖUS Cøh÷¯ EÒÍ 
÷ÁÖ£õkPÒ ¯õøÁ? 

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. A company issues 50,000 shares of Rs. 10 each at 
par. The whole issue has been underwritten by X 
and company, for a commission of 4%. The 
company received applications only for 47,000 
shares. All the applications were accepted. Give 
journal entries to record the above transactions. 

J¸ {ÖÁÚ® ¹.50,000 £[SPøÍ ¹. 10 ÃuzvÀ 

öÁÎ°kQÓx. •Ê¨ £[SPøÍ²® X ©ØÖ® 
{ÖÁÚzuõÀ 4% PªåÝUS J¨¦Öv¯Îzux. 
{ÖÁÚ® 47,000 £[SPÐUS ©mk÷© 
Âsn¨£[PøÍ¨ ö£ØÓx.  AøÚzx 
Âsn¨£[PÐ® HØÖUöPõÒÍ¨£mhÚ.  ÷©÷» 
EÒÍ £›ÁºzuøÚPÐUS SÔ¨÷£mk £vøÁ u¸P. 
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12. Abbas Ltd. was registered on 1.7.2017 to acquire 

the running business of Suneel & co., with effect 

from 1.1.2017. The following was the profit and 

loss account of the company on 31.12.2017. Sales 

ratio for the year is 1:2 before after incorporation. 

Particulars  Rs. Particulars Rs. 

To Office 

expenses 

54,000 By Gross Profit B/d 2,25,000

To Formation 

expenses 

(written off) 

10,000  

To Stationary 

and postage 

5,000  

To Selling 

expenses 

60,000  

To Directors’ fees 20,000  

To Net profit 76,000  

 2,25,000  2,25,000



 UG–AS–1329 7

 A¨£õì ¼ªöhm 1.1.2017 •uÀ _ÛÀ & ÷Põ 
{ÖÁÚzvß C¯[S® ÁoPzøu¨ ö£ÖÁuØPõP 
1.7.2017 AßÖ £vÄ ö\´¯¨£mhx.  31.12.2017 
AßÖ {ÖÁÚzvß »õ£ |èhU PnUS 
¤ßÁ¸©õÖ.  BskUPõÚ ÂØ£øÚ ÂQu® 1:2 
{ÖÁÚzvØS •ßÝ® ¤ßÝ®.  

ÂÁμ[PÒ  ¹. ÂÁμ[PÒ ¹. 

A¾Á»P 
ö\»ÄPÒ 

54,000 ö©õzu »õ£® B/d 2,25,000

E¸ÁõUP 
ö\»ÄPÒ 
(GÊu¨£mhøÁ) 

10,000  

GÊx¨ö£õ¸Ò 
©ØÖ® Ag\À 
Pmhn® 

5,000  

ÂØ£øÚ ö\»Ä 60,000  
C¯USÚºPÎß 
Pmhn® 

20,000  

{Pμ »õ£® 76,000  

 2,25,000  2,25,000

13. The profits of N ltd for the 5 years were given 
below: 

 2004 - Rs. 1,20,000, 2005 - Rs. 1,50,000, 2006 -  
Rs. 1,80,000, 

 2007 - Rs. 2,15,000, 2008 - Rs. 2,33,000. 
 Compute the value of goodwill on the basis of 3 

years purchase of weighted average profits 
assigning weights 1, 2, 3, 4, 5 to profit. 
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 N Ltd Cß 5 BskPÐUPõÚ C»õ£[PÒ R÷Ç 
öPõkUP¨£mkÒÍÚ 2004 – ¹.1,20,000, 2005 – 
¹.1,50,000, 2006 – ¹.1,80,000, 2007 – 
¹.2,15,000, 2008&¹.2,33,000. 

 1,2,3,4,5 BQ¯ GøhPøÍ »õ£zvØS JxUQ 
Gøh°h¨£mh \μõ\› »õ£zøu 3 BskPÒ 
Áõ[SÁuß Ai¨£øh°À öuõÈÀ |ß©v¨¤ß 
©v¨ø£U PnUQk[PÒ. 

14. Explain the various methods of valuation of 
shares. 

 £[SPøÍ ©v¨¤kÁuØPõÚ £À÷ÁÖ •øÓPøÍ 
ÂÍUSP. 

15. Prepare final accounts from the following 
information of ABC Ltd. 

Particulars Debit Credit 

 (Rs.) (Rs.) 

Opening Stock 1,00,000 –

Purchases 15,000 –

Purchase returns – 5,000

Sales – 1,50,000

Sales returns 20,000 –

Wages 15,000 –

Salaries  3,500 –

Advertisements 7,500 –

Interest Paid 2,500 –
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Particulars Debit Credit 

Commission received – 10,000

Furniture 25,000 –

Share capital – 2,50,000

Buildings 2,00,000 –

General reserves – 20,000

Cash at Bank 30,000 –

Investment 16,500 –

 4,35,000 4,35,000

 Additional information: 

 (a) Closing stock Rs.30,000 

 (b) Depreciation at 10% on Furniture and 
Buildings. 

 H¤] ¼ªöhmiß ¤ßÁ¸® uPÁ¼¼¸¢x CÖvU 
PnUSPøÍz u¯õ›UPÄ®.  

ÂÁμ[PÒ £ØÖ ÁμÄ 

 ¹. ¹. 

Bμ®£ \μUQ¸¨¦ 1,00,000 –

öPõÒ•uÀ 15,000 –

öPõÒ•uÀ v¸¨£® – 5,000

ÂØ£øÚ – 1,50,000

ÂØ£øÚ v¸¨£® 20,000 –
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ÂÁμ[PÒ £ØÖ ÁμÄ 

 ¹. ¹. 

Fv¯® 15,000 –

\®£Í® 3,500 –

ÂÍ®£μ[PÒ 7,500 –

ö\¾zu¨£mh Ámi 2,500 –

Pªåß ö£Ó¨£mhx – 10,000

©μa\õ©õßPÒ 25,000 –

£[S ‰»uÚ® – 2,50,000

Pmih[PÒ 2,00,000 –

ö£õx C¸¨¦ – 20,000

Á[Q°À £n® 30,000 –

•u½k 16,500 –

 4,35,000 4,35,000

 TkuÀ uPÁÀ : 

 (A) CÖv \μUQ¸¨¦ ¹.30,000 

 (B) ©μa\õ©õßPÒ ©ØÖ® Pmih[PÎÀ 10% 
÷u´©õÚ®. 

16. Define share. Explain the various types of shares. 

 £[øP Áøμ¯ÖUP.  £À÷ÁÖ ÁøP¯õÚ £[SPøÍ 
ÂÍUSP. 
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17. S Ltd., issued 1,50,000 equity shares. The whole of 
the issue was underwritten as follows: 

 X - 50%; Y-25% and X-25% 

 Applications for the 1,20,000 shares were received 
in all, out of which applications for 30,000 shares 
and the stamp of X, those for 15,000 shares that of 
Y and those for 30,000 shares that of Z. The 
remaining applications for 45,000 shares did not 
bear any stamp.  Determine the liability of the 
underwriters. 

 S ¼ªöhm, 1,50,000 \õuõμn £[SPøÍ 
öÁÎ°mhx.  •Ê £[SPøÍ²® ¤ßÁ¸©õÖ 
J¨¦Öv¯ÎUP¨£mhx.  

 X-50%; Y-25% ©ØÖ® X-25%, ö©õzu® 1,20,000 

 £[SPÐUPõÚ Âsn¨£[PÒ ö£Ó¨£mhÚ,  
AÁØÔÀ 30,000 £[SPÐUPõÚ Âsn¨£[PÒ 
©ØÖ® X Cß •zvøμ, 15,000 £[SPÐUPõÚ 
Âsn¨£[PÒ Y ©ØÖ® 30,000 £[SPÐUPõÚ  
Z Cß £[SPÒ «u•ÒÍ 45,000 £[SPÐUS G¢u 
•zvøμ²® CÀø».  J¨¦Öv¯õÍºPÎß 
ö£õÖ¨ø£z wº©õÛUP. 

——––––––––– 
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ADVANCED CORPORATE ACCOUNTING 

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. Lal Ltd., agreed to absorb the Business Mal Ltd.. 
The purchase consideration was as under: 

(a) For every 4 10% Preference shares of Rs.10 
each in Mal Ltd., 7 Equity shares of Rs.10 
each in Lal Ltd., as Rs.8 paid up. There were 
60,000 10% Preference shares in Mal Ltd. 

 (b) For every 3 Equity shares of Rs.10 each in 
Mal Ltd. 8 Equity shares in Lal Ltd. as Rs.10 
paid up. There were 90,000 Equity shares in 
Mal Ltd. 

 Find out purchase consideration. 

 UG–AS–1330 BCOS–51
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 »õÀ ¼ªöhm, ¤]Úì ©õÀ ¼ªöhmøh EÒÁõ[P 
J¨¦UöPõshx.  öPõÒ•uÀ £›^¼øÚ 
¤ßÁ¸©õÖ 

(A) Mal Ltd–CÀ EÒÍ JÆöÁõ¸ 4 10% 
•ßÝ›ø© £[SPÐUS® u»õ ¹.10, »õÀ 
¼ªöhm {ÖÁÚzvÀ u»õ ¹.10 ©v¨¦ÒÍ 7 
DUÂmi £[SPÒ ¹.8 ö\¾zu¨£mhx.  Mal 
Ltd – CÀ 60,000 10% •ßÝ›ø© £[SPÒ 
C¸¢uÚ. 

(B)  Mal Ltd–À EÒÍ JÆöÁõ¸ 3 DUÂmi 
£[SPÐUS® u»õ ¹.10, »õÀ ¼ªöhmiÀ 
EÒÍ 8 DUÂmi £[SPÐUS ¹.10 
ö\¾zu¨£mhx, Mal Ltd–À 90,000 DUÂmi 
£[SPÒ C¸¢uÚ.  öPõÒ•uÀ Âø»ø¯ 
Psk¤iUPÄ®. 

2. Compute Liquidator’s Remuneration from the 
information given below: 

Secured Creditors : Rs.60,000 (Securities realized: 
Rs.80,000) 

Other Assets 
realized: 

Rs.75,000 

Liquidator’s 
remuneration : 

2.5% on the amounts realized 
(including securities with 
creditors) 

R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÎ¼¸¢x 
Pø»¨£õÍ›ß Fv¯zøu PnUQk[PÒ. 

 £õxPõUP¨£mh PhßuõμºPÒ ¹.60,000 (£zvμ[PÒ 
ö£Ó£mhøÁ ¹.80,000).  ¤Ó ö\õzxPÒ ¹.75,000.  
£n©v¨¤Ç¨¦ ö\´£Á›ß Fv¯®, ÂØÖ Á¢u 
Âø»°À 2.5% (Phß ÁÇ[S£ÁºPÐhÚõÚ 
£zvμ[PÒ Em£h) 
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3. On 31.12.16, Popular Bank Ltd., has the following 
bills in its portfolio. All the bills are discounted at 
5%. 

Amount in Rs. Due Date 

50,000 31.12.2017 

40,000 30.04.2017 

30,000 03.03.2017 

Calculate rebate on bills discounted, assuming 
accounts are closed on 31st December. 

 31.12.16 AßÖ £õ¨¦»º Á[Q {ÖÁÚ®, Auß 
÷£õºL÷£õ¼÷¯õÂÀ ¤ßÁ¸® ¤ÀPøÍ 
öPõskÒÍx.  AøÚzx ¤ÀPÐUS® 5% uÒÐ£i 
Esk.  

¹. {¾øÁ ÷uv 

50,000 31.12.2017 

40,000 30.04.2017 

30,000 03.03.2017 

 i\®£º 31 AßÖ PnUSPÒ •iUP£mhuõP P¸v, 
uÒÐ£i ö\´¯¨£mh ¤ÀPÎÀ uÒÐ£iø¯ 
PnUQk[PÒ. 

4. What is Premium? 

 Ámh® GßÓõÀ GßÚ? 

5. Mention any 2 features of double account system. 

 CμmøhU PnUS •øÓ°ß H÷uÝ® 2 A®\[PøÍ 
SÔ¨¤hÄ®. 
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SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Spring Field Ltd., is absorbed by Sports Field Ltd., 
the consideration being: 

(a) The taking over of the trade liabilities of 
Rs.40,000 

 (b) The payment of cost of absorption of 
Rs.15,000 

 (c) The repayment of B debentures of Spring 
Field Ltd., of Rs.2,00,000 at par 

 (d) The discharge of A debentures of Rs.3,00,000 
in the Vendor Co. at a premium of 10% by 
the issue of 8% debentures in Sports Field 
Ltd. at par 

 (e) A payment of Rs.20 per share in cash and 
the exchange of 4 fully paid Rs.10 shares in 
Sports Field Ltd., at a market price of Rs.15 
per share for every Rs.50 share in Spring 
Field Ltd, which were 40,000 in number. 

 You are required to find out the purchase 
consideration  
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 ì¤›[ L¥Àm ¼ªöhm, ì÷£õºmì L¥Àm 
¼ªöhm ‰»® EÒÁõ[P¨£mhx. 

 (A) ¹.40,000 ÁºzuP¨ ö£õÖ¨¦PøÍ Gkzx 
öPõÒÁx. 

 (B) ¹.15,000 EÒÁõ[Q¯ ö\»Ä ö\¾zxuÀ 
 (C) ì¤›[ L¥Àm ¼ªöhm&Cß ‘B’ PhÜmk 

£zvμ[PøÍ \©©õP ¹.2,00,000 v¸¨¤ 
ö\¾zxuÀ. 

 (D) ì÷£õºmì ¥Àm ¼ªöhm {ÖÁÚzvÀ 8% 
Phß £zvμ[PøÍ öÁÎ°kÁuß ‰»® 10% 
¤Ÿª¯zvÀ ÂØ£øÚ¯õÍº {ÖÁÚzvÀ 
¹.3,00,000 PhÜmk £zvμ[PøÍ ö\¾zxuÀ. 

 (E) ì÷£õºmì L¥Àm ¼ªöhm {ÖÁÚzvÀ 
¹.20 öμõUP©õP ö\¾zxuÀ ©ØÖ® 4 
•Êø©¯õP ö\¾zu¨£mh ¹.10 £[SPøÍ 
ì¤›[ L¥Àm ¼ªöhmiß JÆöÁõ¸ ¹.50 
£[SUS®, ¹.15 GßÓ \¢øu Âø»°ß 
£›©õØÓ® ö\´uÀ 40,000 £[SPÒ C¸¢ux.  
Cuß Ai¨£øh°À öPõÒ•uÀ Âø»ø¯ 
Psk¤iUPÄ®. 

7. While closing its books of accounts, a commercial 
bank has its advances classified as follows: 

Particulars Rs. (In Lakhs) 
Standard assets 32,000 
Sub standard assets 2,600 
Doubtful assets:  
Upto one year 1,400 
  One to three years 800 
  More than three years 400 
Loss assets 1,000 

 You are required to calculate the amount of 
provision to be made by the bank, assuming that 
all the doubtful assets are secured. 
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 J¸ ÁoP Á[Q, ¦zuP[PøÍ •iUS® ÷£õx 
Auß •ß £nzøu ¤ßÁ¸©õÖ 
ÁøP¨£kzxQÓx.  

ÂÁμ[PÒ ¹.(C»m\zvÀ)

{ø»¯õÚ ö\õzxPÒ 32,000 
xøn {ø»¯õÚ ö\õzxPÒ 2,600 
\¢÷uPzvØS›¯ ö\õzxPÒ:  
J¸ Á¸h® Áøμ 1,400 
  JßÖ •uÀ ‰ßÖ BskPÒ 800 
  ‰ßÖ BskPÐUS® ÷©»õP 400 
CÇ¨¦ ö\õzxPÒ 1,000 

 Á[Q¯õÀ JxUP¨£h ÷Ási¯ öuõøPø¯ 
PnUQhÄ® \¢÷uPzvØS›¯ ö\õzxPÒ 
£õxPõUP¨£kQßÓÚ. 

8. P Ltd., acquired 65% shares of Q Ltd., on 1.10.02. 
P and L A/c in the books of Q Ltd., showed a debit 
balance of Rs.40,000 on 1.4.02. On 31.3.03, the 
Balance Sheets of Q Ltd. showed P and L  
A/c balance of Rs.1,20,000. Calculate Capital 
profits and Revenue profits. 

 P Ltd., Q Ltd Cß 65% £[SPøÍ 1.10.02 AßÖ 
Áõ[Q¯x.  Q Ltd. ¦zuP[PÎÀ C»õ£/|mh PnUS 
1.4.02 AßÖ ¹.40,000 £ØÖ C¸¨ø£ Põmi¯x.  
31.03.03 AßÖ Q Ltd-Cß C¸¨¦ {ø»PÒ 
C»õ£/|mh C¸¨¦ ¹.1,20,000 GÚU Põmi¯x.  
Cuß Ai¨£øh°À ‰»uÚ C»õ£® ©ØÖ® 
Á¸Áõ´ C»õ£zøu PnUQk[PÒ. 
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9. Write a short note on surrender value. 

Surrender value – £ØÔ ]Ö SÔ¨¦ ÁøμP. 

10. Explain the disadvantages of double account 
system. 

Cμmøh PnUS •øÓ°ß wø©PøÍ ÂÍUSP. 

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. X Ltd., and Y Ltd., agree to amalgamate as from 
31st December 2013 on which date their respective 
Balance Sheets were as follows:  

Liabilities X 
Ltd., 

 Y 
Ltd., 

 Assets X 
Ltd.,

Y 
Ltd.,

Share 
Capital :  
Share of 
Re.1 each 

80,000  25,000  Cash in 
hand 

100 50

Sundry 
creditors 

3,000  1,000  Cash at 
bank 

3,400 450

Reserves 7,500  4,000  Sundry 
debtors 

22,500 6,000

Profit and 
Loss A/c 

2,500  1,000  Plant 12,000 4,500
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Liabilities X 
Ltd., 

 Y 
Ltd., 

 Assets X 
Ltd.,

Y 
Ltd.,

     Stock 15,000 7,000

     Premises 30,000 10,000

     Patents 10,000 3,000

 93,000  31,000   93,000 31,000

 Draw up the Balance Sheet of the new company 
XY Ltd., which was incorporated to take over the 
amalgamated concerns and state the number of 
shares in the new company which will be allotted 
to the shareholders of the old companies. (Assume 
the same face value). 

 X Ltd., ©ØÖ® Y Ltd., Cøn¯ J¨¦ öPõshx, 
31.12.2013 •uÀ A¢u¢u ÷uv°À EÒÍ C¸¨¦ 
{ø»U SÔ¨¦PÒ ¤ßÁ¸©õÖ CønUP¨£mhÚ. 

ö£õÖ¨¦PÒ X 
Ltd., 

 Y 
Ltd., 

 ö\õzxPÒ X 
Ltd.,

Y 
Ltd.,

£[S •uÀ 
J¸ £[S ¹.1 

80,000  25,000  øP°¸¨¦ 100 50

Phß 
ÁÇ[Q¯ÁºPÒ 

3,000  1,000  Á[Q C¸¨¦ 3,400 450

Põ¨¦PÒ 7,500  4,000  PhÚõÎPÒ 22,500 6,000
C»õ£/|mh 
PnUS 

2,500  1,000  Bø» 12,000 4,500

     \μUS 15,000 7,000

     ÁÍõP® 30,000 10,000

     Põ¨¦›ø©PÒ 10,000 3,000

 93,000  31,000   93,000 31,000
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 ¦v¯ {ÖÁÚ©õÚ XY Ltd. Cß C¸¨¦{ø» 
SÔ¨ø£ Áøμ¯Ä®.  Cx J¸[QønUP¨£mh 
{ÖÁÚzøu Gkzx öPõÒÁuØPõP 
CønUP¨£mhx.  ©ØÖ® £øÇ¯ {ÖÁÚ[PÎß 
£[SuõμºPÐUS JxUP¨£k® ¦v¯ {ÖÁÚzvß 
£[SPÎß GsoUøPø¯ SÔ¨¤hÄ®.  (A÷u 
•P ©v¨ø£ Gkzx öPõÒÍÄ®). 

12. Prepare the Profit and Loss Account for the year 
ended 31.12.2012 of Kashinathan Bank Ltd., from 
the following particulars: 

Particulars Rs. (in 
‘000) 

Interest on loans 250 

Interest on savings accounts 150 

Interest on cash credits 160 

Interest on fixed deposits 190 

Interest on overdrafts 50 

Amount charged against current 
accounts 

20 

Rebate on bills discounted 19 

Salaries and allowances 120 

Rent, tax, insurance etc. 5 

Dearness allowance 35 

Commission, exchange and brokerage 15 

Managing director’s salary 15 

Contribution to provident fund 10 

Discount 40 
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 Põ]|õuß Á[Q ¼ªöhm 31.12.2012&CÀ 
•iÁøh¢u BsiØPõÚ C»õ£® ©ØÖ® |èhU 
PnUøP ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x u¯õº 

ö\´¯Ä®. 

ÂÁμ[PÒ ¹. 
(000) 

PhßPÐUPõÚ Ámi 250 

÷\ª¨¦ PnUSPÐUPõÚ Ámi 150 

£n ÁμÄPÒ «uõÚ Ámi 160 

{ø»¯õÚ øÁ¨¦PÐUPõÚ Ámi 190 

KÁº iμõL¨m «uõÚ Ámi 50 

|h¨¦ PnUSPÐUPõÚ GvμõP 

Á`¼UP¨£k® öuõøP 
20 

¤ÀPÎÀ uÒÐ£i 19 

\®£Í® ©ØÖ® öPõk¨£ÚÄPÒ 120 

ÁõhøP, Á›, Põ¨¥k ÷£õßÓøÁ 5 

APÂø»¨£i, Pªåß 35 

£›©õØÓ® ©ØÖ® uμS 15 

{ºÁõP C¯USÚ›ß \®£Í® 15 

Á¸[Põ» øÁ¨¦ {vUS £[PÎ¨¦ 10 

uÒÐ£i 40 
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13. Given below is the Balance Sheet of a Company as 
on 31.03.2002.  

Liabilities  N Ltd., Assets N Ltd.,

Share Capital : 
2,000 Preference 
shares of Rs.100 
each 

2,00,000 Goodwill 1,20,000

3,000 Ordinary 
shares of Rs.100 
each 

3,00,000 Fixed Assets 2,50,000

Securities 
Premium 

50,000 Current Assets 1,80,000

Other Liabilities 1,50,000 Preliminary 
Expenses 

15,000

 P & L A/c 1,35,000

 7,00,000  7,00,000

 During 2002 – 03, the following resolutions were 
implemented: 

 (a) To reduce the face value of the Preference 
and Equity shares to Rs.50 each 

 (b) To write off other assets (except real assets) 
by utilizing securities premium to the 
required extent. 

 Prepare the Balance Sheets after the 
reconstruction and also the journal entries 
thereon. 
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 31.03.2002 AßÖ J¸ {ÖÁÚzvß C¸¨¦ {ø» 
SÔ¨¦ R÷Ç öPõkUP¨£mkÒÍx.  

ö£õÖ¨¦PÒ  N Ltd., ö\õzxPÒ N Ltd.,

£[S ‰»uÚ® 
2,000 
•ßÝ›ø© £[S 
¹.100 

2,00,000 |ß©v¨¦ 1,20,000

3,000 \õuõμn 
£[SPÒ ¹.100 

3,00,000 {ø»¯õÚ 
ö\õzxPÒ 

2,50,000

£[S Ámh® 50,000 Cuμ ö\õzxPÒ 1,80,000

¤Ó ö£õÖ¨¦PÒ 1,50,000 Bμ®£ ö\»ÄPÒ 15,000

 C»õ£/|mh P/S 1,35,000

 7,00,000  7,00,000

 2002-03-CÀ ¤ßÁ¸® wº©õÚ[PÒ 
ö\¯À£kzu¨£mhÚ.   

 (A) •ßÝ›ø© ©ØÖ® \õuõμn £[SPÎß •P 
©v¨ø£ JÆöÁõßÖ® ¹.50 BP SøÓUP 

 (B) ÷uøÁ¯õÚ AÍÂØS ö\U³›mi ¤Ÿª¯zøu 
£¯ß£kzv ©ØÓ ö\õzxPøÍ (Esø©¯õÚ 
ö\õzxPÒ uÂμ) uÒÐ£i ö\´¯Ä®. 

 ¦Úμø©¨¦US ¤ÓS C¸¨¦ {ø» SÔ¨ø£²® 
AvÀ EÒÍ SÔ¨÷£k £vÄPÐ® u¸P. 
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14. From the Balance Sheets given below prepare a 
consolidated Balance Sheet of A Ltd., and its 
subsidiary company B Ltd. 

Balance Sheets as at 30th June 2014 
Liabilities A Ltd.,  B Ltd.,  Assets A Ltd., B Ltd., 

Share 
Capital : 
Shares of 
Rs.10 each 

25,00,000  6,00,000  Land and 
Buildings 

6,40,000 2,00,000

General 
reserve 

3,60,000  1,20,000  Machinery 12,60,000 3,40,000

Profit and 
Loss A/c 

2,40,000  1,80,000  Furniture 1,40,000 60,000

Trade 
creditors 

3,50,000  1,00,000  40,000 
shares in B 
Ltd 

5,00,000 –

     Stock 4,10,000 2,50,000

     Debtors 3,80,000 1,00,000

     Bank 
balance 

1,20,000 50,000

 34,50,000  10,00,000   34,50,000 10,00,000

 As the date of acquisition by A Ltd., of its holding 
of 40,000 shares in B Ltd., the latter company had 
undistributed profits and reserves amounting to 
Rs.1,00,000, none of which had been distributed 
since then.  
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 R÷Ç öPõkUP¨£mkÒÍ C¸¨¦ uõÒPÎÀ C¸¢x  
A Ltd ©ØÖ® Auß xøn {ÖÁÚ©õÚ B Ltd. 
BQ¯ÁØÔß J¸[Qøn¢u C¸¨¦ {ø» SÔ¨ø£ 
u¯õ›UPÄ®. 

30.6.14 AßÖ C¸¨¦ {ø» SÔ¨¦ 

ö£õÖ¨¦PÒ A Ltd.,  B Ltd.,  ö\õzxPÒ A Ltd., B Ltd., 

£[S 
‰»uÚ® 
£[S ¹.10 

25,00,000  6,00,000  {»® ©ØÖ® 
Pmih[PÒ 

6,40,000 2,00,000

ö£õx Põ¨¦ 3,60,000  1,20,000  C¯¢vμ[PÒ 12,60,000 3,40,000

C»õ£/|mh 
P/S 

2,40,000  1,80,000  C¸UøPPÒ 1,40,000 60,000

PhÜ¢÷uõºPÒ 3,50,000  1,00,000  B Ltd CÀ 

40,000 
£[SPÒ 

5,00,000 –

     \μUQ¸¨¦ 4,10,000 2,50,000

     PhÚõÎPÒ 3,80,000 1,00,000

     Á[Q C¸¨¦ 1,20,000 50,000

 34,50,000  10,00,000   34,50,000 10,00,000

 A Ltd øP¯P£kzv¯ ÷uv°À, B Ltd. &CÀ 40,000 
£[SPøÍ øÁzv¸¢ux.  ¤¢øu¯ {ÖÁÚ® 
¹.1,00,000 Áøμ Â{÷¯õQUP¨£hõu 
C»õ£zøu²® øP°¸¨ø£²® öPõsi¸¢ux. 
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15. A Ltd., went into liquidation with the following 
liabilities: 

(a) Secured creditors Rs.20,000 (Securities 
realized Rs.25,000) 

 (b) Preferential creditors Rs.600 

 (c) Unsecured creditors Rs.30,500 

 Liquidation expenses are Rs.252. Liquidator is 
entitled to a remuneration of 3% on the amount 
realized (including securities with creditors) and 
1.5% on the amount distributed to unsecured 
creditors. The various assets realized Rs.26,000 
(excluding securities in the hands of secured 
creditors). Prepare liquidator’ s final statement of 
account. 

 A Ltd ¤ßÁ¸® ö£õÖ¨¦PÐhß Pø»UP¨£mhx.   

 (A) £õxPõUP¨£mh PhÚõÎPÒ ¹.20,000 
(£zvμ[PÒ ¹.25,000) 

 (B) •ßÝ›ø© Phß ÁÇ[S£ÁºPÒ ¹.600 

 (C) £õxPõ¨£ØÓ PhÚõÎPÒ ¹.30,500, Pø»¨¦ 
ö\»ÄPÒ ¹.252. 

 ö£Ó¨£mh öuõøP°À (Phß 
ÁÇ[S£ÁºPÐhÚõÚ £zvμ[PÒ Em£h) 3% 
©ØÖ® £õxPõ¨£ØÓ PhÚõÎPÐUS 
Â{÷¯õQUP¨£mh öuõøP°À 1.5% Fv¯® 
ö£ÖÁuØS Pø»¨£õÍ¸US E›ø© Esk £À÷ÁÖ 
ö\õzxPÒ ¹.26,000 (£õxPõUP¨£mh PhÚõÎPÎß 
øPPÎÀ EÒÍ £zvμ[PøÍ uÂºzx) 
Pø»¨£õÍ›ß CÖv PnUS AÔUøPø¯ 
u¯õ›UPÄ®. 
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16. Explain the following items relating to insurance 
business: 

(a) Reinsurance 

 (b) Commission on reinsurance ceded 

 Põ¨¥mk ÁoP® öuõhº£õÚ ¤ßÁ¸® £vÄPøÍ 
ÂÍUPÄ®. 

(A) ©ÖUPõ¨¥k 

 (B) ©ÖPõ¨¥k «uõÚ Pªåß öPõkUP¨£mhx. 

17. Distinguish between single entry system and 
double entry system. 

JØøÓ £vÄ •øÓ ©ØÖ® Cμmøh  £vÄ •øÓ 
BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION — JULY 2024. 

Commerce 

Fifth Semester 

INCOME TAX THEORY, LAW AND PRACTICES 

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions  
in 100 words. 

All questions carry equal marks. 

1. What are the various components of taxation? 

 Á› Âv¨¤ß £À÷ÁÖ TÖPÒ ¯õøÁ? 

2. Write short notes on the features on Salary.  

 \®£ÍzvÀ EÒÍ A®\[PÒ £ØÔ¯ ]Ö SÔ¨¦PøÍ 
GÊxP. 

3. What do you mean by Loss from House property? 

 Ãmka ö\õzv¼¸¢x CÇ¨¦ GßÓõÀ GßÚ? 

 UG–AS–1331 BCOS–52
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4. What is illegal expense? 
 \mhÂ÷μõu ö\»Ä GßÓõÀ GßÚ? 

5. How to treat unabsorbed depreciation? 
 PÈUP£hõu ÷u´©õÚzøu GÆÁõÖ øP¯õÒÁx? 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions  
in 200 words. 

All questions carry equal marks. 

6. The following amount of Income has been 
computed for Mr.Ram for the current previous 
year: 

 Salary accrued and received in India Rs.25,000 

  Profit from hotel business in Japan Rs.50,000 

  Dividend declared in Japan received in India 
Rs.10,000 

  Compute the total income of Ram for the relevant 
assessment year, if he is an ordinary resident. 

 v¸. μõ•US |h¨¦ •¢øu¯ BsiØPõÚ 
Á¸©õÚzvß ¤ßÁ¸® AÍÄ PnUQh¨£mkÒÍx: 

 C¢v¯õÂÀ ö£Ó¨£h ÷Ási¯ ©ØÖ® ö£Ó¨£mh 
\®£Í® ¹.25,000 

  á¨£õÛÀ ÷íõmhÀ ÁoPzvß »õ£® ¹.50,000 

  á¨£õÛÀ AÔÂUP¨£mh £[Põuõ¯® C¢v¯õÂÀ 
ö£Ó¨£mhx ¹.10,000  

  μõ® J¸ \õuõμn Si°¸¨£õÍμõP C¸¢uõÀ, 
öuõhº¦øh¯ ©v¨¥mk BsiØPõÚ ö©õzu 
Á¸©õÚzøuU PnUQkP. 
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7. Mr. Rajan an employee of the central government 
get Rs. 6,000 per month as basic salary and is 
entitles to Rs.1,500 per month as entertainment 
allowance. Compute the deduction U/S 16 (ii) from 
gross salary. 

 ©zv¯ Aμ_ FÈ¯º v¸. μõáß Ai¨£øh 
\®£Í©õP ¹.6,000 ©ØÖ® ö£õÊx÷£õUS 
A»ÁßéõP ©õu® ¹.1,500 ö£ÖQÓõº ö©õzu 
\®£Ízv¼¸¢x U/S 16 (ii) PÈ¨ø£U PnUQkP. 

8. Calculate the Annual Rental value from the 
particulars given below: 

  MRV Rs. 60,000 per annum; FRV Rs. 66,000 per 
annum; Actual rent Rs. 63,000 per annum and 
Standard rent Rs. 69,000 per annum. 

  R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x 
Á¸hõ¢vμ ÁõhøP ©v¨ø£U PnUQkP. 

  \¢øu ÁõhøP ©v¨¦ BskUS ¹.60,000, FRV 
BskUS ¹.66,000; Esø©¯õÚ ÁõhøP 
BskUS ¹.63,000 ©ØÖ® {ø»¯õÚ ÁõhøP 
BskUS ¹.69,000. 

9. Mr.Raj submits the following particulars of his 
business, from which you can calculate his income 
from business. 

  Net profit as Profit and Loss account (after 
charging the following) Rs. 40,000 

  Sales tax Rs.2,000 and income tax Rs. 3,000 
  Bad debts provision Rs. 1,000 
  Commission to procure business order Rs. 4,000 
  Interest on capital Rs. 1,500 
  Depreciation Rs. 2,000 (but allowable amount as 

per income tax rules Rs. 1,800 only) 



 UG–AS–1331 4

  v¸. μõä uÚx ÁoPzvß ¤ßÁ¸® ÂÁμ[PøÍa 
\©º¨¤zxÒÍõº. Av¼¸¢x }[PÒ ÁoPzvß 
Á¸©õÚzøuU PnUQkP.  

  »õ£ ©ØÖ® |mh PnUPõP {Pμ »õ£® (¤ßÁ¸® 
Pmhn® Á`¼zu ¤ÓS) ¹.40,000.  

  ÂØ£øÚ Á› ¹.2,000 ©ØÖ® Á¸©õÚ Á› 
¹.3,000.  

  ÁõμõU Phß JxURk ¹.1,000 

  ÁoP Bøn Áõ[SÁuØPõÚ Pªåß ¹.4,000 

  ‰»uÚzvß «uõÚ Ámi ¹.1,500 

  ÷u´©õÚ® ¹.2,000 (BÚõÀ Á¸©õÚ Á› 
ÂvPÎß£i AÝ©vUP¨£k® öuõøP ¹.1,800 
©mk÷©) 

10. Compute the total income of Mr. Hari and  
Mrs. Hari from the following information: 

  Salary income (computed) of Mrs. Hari 
Rs.2,30,000 

  Income from profession of Mr. Hari Rs.3,90,000 

  Income of a minor son Ram from company deposit  
Rs.15,000 

  Income of minor daughter Sita from special talent 
Rs.32,000 

  Income of minor daughter Sita from Bank deposit 
Rs. 3,000 

  Gift received by Sita from a friend of Mrs. Han  
Rs. 2,500 
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 ¤ßÁ¸® uPÁÀPÎ¼¸¢x v¸. í› ©ØÖ® 
v¸©v. í›°ß ö©õzu Á¸©õÚzøuU PnUQkP: 

  v¸©v í›°ß \®£Í Á¸©õÚ® 
(PnUQh¨£mhx) ¹.2,30,000 

  v¸. í›°ß öuõÈÀ ‰»® Á¸©õÚ® ¹.3,90,000 

  ø©Úº ©Pß ‘μõ®’ {ÖÁÚzvß öh£õ]mi¼¸¢x 
Á¸©õÚ® ¹.15,000 

  ø©Úº ©PÒ ‘^uõ’Âß ]Ó¨¦z vÓø©°¼¸¢x 
Á¸©õÚ® ¹.32,000 

  ø©Úº ©PÒ ^uõÂß Á[Q øÁ¨¦z öuõøP°ß 
Á¸©õÚ® ¹.3,000 

  v¸©v. í›°ß ÷uõÈ°h® C¸¢x ‘^uõ’ ö£ØÓ 
£›_ ¹.2,500 

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions  
in 500 words. 

All questions carry equal marks. 

11. Following are the income of Mr. Kalam for the 
previous year. Calculate his taxable income on the 
assumption that he is 

 (a) Ordinary resident 

  (b) Not an ordinary resident 

  (c) Non resident 

  (i) Dividend from Indian company Rs. 1,00,000 

  (ii) Dividend from a foreign company 
Rs.1,50,000 received in India 
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  (iii) Income from business in Kenya but 
controlled from India Rs. 2,00,000 

  (iv) Income from business in USA but controlled 
from UK Rs. 5,00,000 

  (v) Income accrued in Canada Rs.2,50,000 2/5th  
received in India 

  v¸. P»õªß •¢øu¯ Bsk Á¸©õÚ® 
¤ßÁ¸©õÖ. AÁº GßÖ AÝ©õÛzx AÁμx 
Á›US›¯ Á¸©õÚzøu PnUQk[PÒ. 

  (A) \õuõμn Á]¨£ÁμõP 

  (B) \õuõμn ©ØÓ Á]¨£ÁμõP 

  (C) Á]UPõuÁμõP C¸US® £m\zvÀ 

  (i) C¢v¯ {ÖÁÚzvhª¸¢x DÄzöuõøP 
¹.1,00,000 

 (ii) öÁÎ|õmk {ÖÁÚzvh® C¸¢x DÄzöuõøP 
C¢v¯õÂÀ ¹.1,50,000 ö£Ó¨£mhx. 

 (iii) öPß¯õÂÀ ÁoPzvß Á¸©õÚ®, BÚõÀ 
C¢v¯õÂÀ C¸¢x Pmk¨£kzu¨£k® 
¹.2,00,000 

 (iv) Aö©›UPõÂÀ ÁoPzvß Á¸©õÚ® BÚõÀ 
C[Q»õ¢vÀ C¸¢x Pmk¨£kzu¨£k® 
¹.5,00,000 

 (v) PÚhõÂÀ vμmh¨£mh Á¸©õÚ® 
¹.2,50,000,  2/5 – C¢v¯õÂÀ ö£Ó¨£mhx. 
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12. Mr. Mohan submits the following particulars off 
his salary income for the current previous year: 

  Salary Rs. 7,500 per month 

  Dearness allowance Rs. 3,000 per month 

  House rent allowances Rs. 3,000 per month 

  Rent paid Rs. 2,000 per month 

  ½% of the commission on gross profit Rs. 25,000 
per annum 

  Determine taxable HRA for the current AY 
considering that house is located in Noida and DA 
is a part of superannuation benefits. 

  v¸. ÷©õPß |h¨¦ •¢øu¯ BsiØPõÚ uÚx 
\®£Í Á¸©õÚzvÀ ¤ßÁ¸® ÂÁμ[PøÍa 
\©º¨¤UQÓõº: 

  \®£Í® ©õu® ¹.7,5000 

  APÂø»¨£i ©õu® ¹.3,000 

  Ãmk ÁõhøP öPõk¨£ÚÄPÒ ©õu® ¹.3,000 

  ÁõhøP ö\¾zv¯ ©õu® ¹.2,000 

  ö©õzu »õ£zvÀ ½% Pªåß BskUS ¹.25,000  

  ö|õ´hõÂÀ Ãk Aø©¢v¸¨£øuU P¸zvÀ 

öPõsk uØ÷£õøu¯ AY US Á› ÂvUPUTi¯ 

HRA Iz wº©õÛUPÄ®. ©ØÖ® DA Gß£x 
K´ÄUPõ»¨ £»ßPÎß J¸ £Sv¯õS®. 
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13. Mr. Ashok is the owner of 4 houses. First house is 
let to a tenant for Rs.3,000 per annum. The second 
house, the municipal of which is Rs. 4,500 per 
annum is in his own occupation. The third house 
remained vacant throughout the whole year as it 
was not in the rentable condition. The fourth 
house, the municipal valuation of which is 
Rs.6,000 is used by Ashok for his business. His 
expenses in respect of these houses are as follows: 

  Interest on loan taken to repair self occupied 
residential house Rs. 400  

  Fire insurance premium for first, second and 
fourth houses Rs. 1,140  

  Collection charges Rs. 350 
  Ground rent in respect of second house Rs. 200  
  The first house which is let remained vacant for 2 

months. 
  Calculate the total income of house property of Mr. 

Ashok for the assessment year. 

  v¸. A÷\õU 4 ÃkPÎß E›ø©¯õÍº. •uÀ Ãk 
J¸ SzuøPuõμ¸US BskUS ¹.3,000. 
CμshõÁx Ãk, CvÀ |Pμõm] BskUS ¹.4,500 
AÁμx ö\õ¢u öuõÈ¼À EÒÍx. ‰ßÓõÁx Ãk 
ÁõhøP {ø»°À CÀ»õuuõÀ Bsk •ÊÁx® 
Põ¼¯õP÷Á C¸¢ux. |õßPõÁx Ãk, |Pμõm] 
©v¨¥k ¹.6,000 A÷\õU uÚx öuõÈ¾US 
£¯ß£kzvÚõº. C¢u ÃkPÒ öuõhº£õÚ AÁμx 
ö\»ÄPÒ ¤ßÁ¸©õÖ: 

 _¯©õP £¯ß£kzv¯ Si°¸¨¦ Ãmøh 
£Êx£õºUP Áõ[Q¯ PhÝUPõÚ Ámi ¹.400 
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 •uÀ, CμshõÁx ©ØÖ® |õßPõÁx ÃkPÐUPõÚ 
w Cß`μßì ¤Ÿª¯® ¹.1,140. 

 Á`À Pmhn® ¹.350 

 CμshõÁx Ãmøh¨ ö£õÖzuÁøμ uøμ ÁõhøP 
¹.200 

 •uÀ Ãk 2 ©õu[PÍõP Põ¼¯õP C¸¢ux. 

  ©v¨¥mk BsiØPõÚ v¸. A÷\õUQß Ãmka 
ö\õzvß ö©õzu Á¸©õÚzøuU PnUQkP. 

14. The following is the profit and loss account of a 
calculate merchant for the current previous year: 

Profit and loss account 
Particulars Amount 

Rs. 
Particulars Amount 

Rs. 

To rent 40,000 By gross profit 2,50,000

To salary 25,000 By house property 
income 

1,50,000

To depreciation 10,000 By income from 
other sources 

2,00,000

To donation 8,000  

To net profit 5,17,000  

 6,00,000  6,00,000

  (a) Depreciation to be allowed as per income tax 
provision Rs. 8,000 

  (b) Business income of Rs. 12,000 is not shown 
in Profit and loss account 

  (c) Rs. 8,000 of the rent is of personal nature. 
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 ¤ßÁ¸® |h¨¦ •¢øu¯ BsiØPõÚ ÁoP›ß 
»õ£® ©ØÖ® |èhU PnUQøÚ PnUQkP. 

C»õ£ |mh PnUS 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

ÁõhøP 40,000 ö©õzu »õ£® 2,50,000

\®£Í® 25,000 Ãmk ö\õzx 
Á¸©õÚ®  

1,50,000

÷u´©õÚ® 10,000 ©ØÓ Á¸©õÚ® 2,00,000

|ßöPõøh 8,000  

{Pμ »õ£® 5,17,000  

 6,00,000  6,00,000

 (A) Á¸©õÚ Á› ÂvPÎß£i ÷u´©õÚ® 
AÝ©vUP¨£k® ¹.8,000. 

 (B) ÁoP Á¸©õÚ® ¹.12,000 »õ£® ©ØÖ® 
|èh® PnUQÀ Põmh¨£hÂÀø».  

 (C) ÁõhøP°À ¹. 8,000 uÛ¨£mh 
C¯À¦øh¯x.  

15. From the following particulars compute the total 
income of Mr. X for the assessment year Explain 
each point clearly income from profession 
Rs.86,500. 

  Income of minor son (singing in his profession) 
Rs.12,000. 

  Winnings from lottery, ticket purchased on the 
name of Mr. X’s minor daughter Rs. 6,800.  
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  Mr. X’s father gifted debentures in an Indian 
company to Mr. X’s minor son and company paid 
gross interest Rs. 6,650. 

  Mr. X’s wife is a government servant and her 
income computed under the head salaries 
Rs.56,000 

  Interest on debentures purchased by Mr. X but 
gifted to Mrs. X Rs. 18,000. 

 ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x ©v¨¥mk 

BsiØPõÚ Mr. X Cß ö©õzu Á¸©õÚzøuU 
PnUQk[PÒ. 

 JÆöÁõßøÓ²® öuÎÁõP ÂÍUSP. 

 öuõÈÀ ‰»® Á¸©õÚ® ¹.86,500. 

 ø©Úº ©PÛß Á¸©õÚ® (AÁμx öuõÈ¼À 
£õkÁx) ¹.12,000. 

 »õmh›°ß öÁØÔPÒ, ªìhº. GUêß ø©Úº 
©PÛß ö£¯›À Áõ[P¨£mh iUöPm ¹.6,800. 

 ªìhº. GUêß u¢øu, ªìhº. GUêß ø©Úº 
©PÝUS C¢v¯ {ÖÁÚzvÀ Phß £zvμ[PøÍ 
Aß£Î¨£õP ÁÇ[QÚõº ©ØÖ® {ÖÁÚ® ÁÇ[Q¯ 
ö©õzu Ámi ¹.6,650. ªìhº. GUêß Cß 
©øÚÂ J¸ Aμ_ FÈ¯º ©ØÖ® AÁμx \®£Í® 
‰»©õÚ Á¸©õÚ® ¹.56,000. 

 Mr. X Áõ[Q¯ PhÜmk¨ £zvμ[PÒ «uõÚ Ámi, 

BÚõÀ Mrs. X US £›\õP ÁÇ[P¨£mhx 
¹.18,000. 
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16. Compute Gross total income of Mr. Sahadevan: 

  Loss from business (sole proprietor) Rs. 45,000 

  Loss from house property Rs. 34,000 

  Short term capital loss Rs. 45,000 

  Long term capital gain Rs. 67,000 

 v¸. \íõ÷uÁÛß ö©õzu Á¸©õÚzøuU 
PnUQkP: 

 ÁoPzv¼¸¢x CÇ¨¦ (uÛ E›ø©¯õÍº) 
¹.45,000. 

 Ãmk ö\õzx CÇ¨¦ ¹.34,000. 

 SÖQ¯ Põ» ‰»uÚ CÇ¨¦ ¹.45,000 

 }shPõ» ‰»uÚ Buõ¯® ¹.67,000. 

17. Explain any ten deductions allowable from the 
gross total income u/s 80. 

   ö©õzu Á¸©õÚ® u/s 80 C¼¸¢x 
AÝ©vUPUTi¯ HuõÁx £zx PÈÄPøÍ 
ÂÍUSP. 

  

——––––––––– 
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SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. What is book building? 

 ¦zuPU Pmk©õÚ® GßÓõÀ GßÚ? 

2. Write short notes on preference shares. 

 •ßÝ›ø©¨ £[SPÒ £ØÔ¯ ]Ö SÔ¨¦PøÍ 
GÊxP. 

3. Who can become a member of a company? 

 ¯õº J¸ {ÖÁÚzvÀ EÖ¨¤ÚμõP •i²®? 
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4. Describe the class meeting. 

 ÁS¨¦U Tmhzøu ÂÍUSP. 

5. What is meant by winding up of company? 

 {ÖÁÚzøu ‰kÁx GßÓõÀ GßÚ? 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. What do you mean by company? What are its 
characteristics? 

 {ÖÁÚ® GßÓõÀ GßÚ?  Auß ]Ó¨¤¯À¦PÒ 
GßÚ? 

7. What are equity shares? List out its features. 

 ö£õxÁõÚ £[SPÒ GßÓõÀ GßÚ?  Auß 
A®\[PøÍ £mi¯¼k[PÒ. 

8. Describe the scope and extent of liability of 
directors. 

 C¯US|ºPÎß ö£õÖ¨¤ß AÍÄ ©ØÖ® AÍøÁ 
ÂÁ›. 

9. What is CSR committee? Give its functions. 

 ]GìBº SÊ GßÓõÀ GßÚ?  Auß 
ö\¯À£õkPøÍU öPõk[PÒ. 
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10. Explain the consequences of winding up as to 
shareholders. 

 £[SuõμºPøÍ ‰kÁuõÀ HØ£k® ÂøÍÄPøÍ 
ÂÍUSP. 

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Explain in detail the contents of Memorandum of 
association. 

 Aø©¨¦ •øÓ÷¯miß EÒÍhUP[PøÍ Â›ÁõP 
ÂÍUSP. 

12. What is debenture? State the different types of 
debentures that can be issued by a company. 

 Phß £zvμ® GßÓõÀ GßÚ?  J¸ {ÖÁÚ® 
öÁÎ°hUTi¯ £À÷ÁÖ ÁøP¯õÚ Phß 
£zvμ[PøÍU SÔ¨¤kP. 

13. Who are independent director? Write about their 
selection. 

 uÛzxÁ©õÚ C¯USÚºPÒ ¯õº?  AÁºPÎß 
÷uºÄ £ØÔ GÊx[PÒ. 

14. Describe in detail the law relating to quorum of 
general meeting. 

 ö£õxU Tmhzvß ÷Põμ® öuõhº£õÚ \mhzøu 
Â›ÁõP ÂÍUSP. 
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15. Who is a company liquidator? Explain the legal 
provision regarding the appointment and removal 
of a company liquidator. 

 {ÖÁÚzvß Pø»¨£õÍº GßÓõÀ GßÚ?  J¸ 
{ÖÁÚzvß Pø»¨£õÍº {¯ª¨£x ©ØÖ® 
}USÁx öuõhº£õÚ \mh Âvø¯ ÂÍUPÄ®. 

16. Explain the procedure for removing a director. 

 C¯US|øμ }USÁuØPõÚ ö\¯À•øÓø¯ ÂÍUSP. 

17. What is prospectus? What are its requirements? 

 uPÁ»ÔUøP GßÓõÀ GßÚ?  Auß ÷uøÁPÒ 
GßÚ? 

——––––––––– 
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SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five  

questions in 100 words. 

All questions carry equal marks. 

1. What is the purpose of banking legislation?  

 Á[Qa \mhzvß ÷|õUP® GßÚ? 

2. How is a Senior Citizen Deposit Account designed 

to benefit elderly account holders? 

 •v÷¯õº PnUS øÁzv¸¨£ÁºPÐUS 

£¯ÚÎUS® ÁøP°À ‰zu Si©UPÒ øÁ¨¦ 

PnUS GÆÁõÖ ÁiÁø©UP¨£mkÒÍx? 

 UG-AS-1333 BCOS-54
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3. What are the key characteristics that make an 
instrument negotiable? 

 J¸ P¸Âø¯ ©õØÔ¯ø©US® •UQ¯ £s¦PÒ 
¯õøÁ? 

4. What are the different categories or types of NPAs 
that banks encounter? 

 Á[QPÒ \¢vUS® ÁõμõUPhßPÎß öÁÆ÷ÁÖ 
ÁøPPÒ ¯õøÁ? 

5. What is Electronic Fund Transfer (EFT), and how 
is it commonly used in banking transactions? 

 ªßÚq {v £›©õØÓ® (D.GL¨.i) GßÓõÀ GßÚ? 
Cx ö£õxÁõP Á[Q £›ÁºzuøÚPÎÀ GÆÁõÖ 
£¯ß£kzu¨£kQÓx? 

SECTION B — (3 × 7 = 21 marks) 
Answer any THREE questions out of Five questions in 

200 words. 

All questions carry equal marks. 

6. How do you define the relationship between a 
banker and a customer, and what are their 
respective rights and responsibilities? 

 J¸ Á[Q¯õÍ¸US® ÁõiUøP¯õÍ¸US® 
Cøh°»õÚ EÓøÁ }[PÒ GÆÁõÖ 
Áøμ¯ÖUQÕºPÒ, A¢u¢u E›ø©PÒ ©ØÖ® 
ö£õÖ¨¦PÒ ¯õøÁ? 
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7. What is a Flexi Deposit Account, and how does it 

work to provide flexibility to account holders? 

 L¨öÍUê öh£õ]m PnUS GßÓõÀ GßÚ, PnUS 
øÁzv¸¨£ÁºPÐUS ö|QÌÄzußø©ø¯ ÁÇ[P 
Cx GÆÁõÖ ö\¯À£kQÓx? 

8. How does a bill of exchange differ from a cheque, 

in terms of usage and characteristics? 

 ö\»õÁo μ^x Põ÷\õø»°¼¸¢x £¯ß£õk 
©ØÖ® £s¦PÎß Ai¨£øh°À GÆÁõÖ 
÷ÁÖ£kQÓx? 

9. How can banks address and manage Non-

Performing Assets, and what are the potential 

remedies? 

 Á[QPÒ ÁõμõUPhßPøÍ GÆÁõÖ {Áºzv 
ö\´¯»õ® ©ØÖ® {ºÁQUP»õ®, \õzv¯©õÚ 
wºÄPÒ ¯õøÁ? 

10. What is the Centralized Funds Management 

System (CFMS), and how does it streamline fund 

management in banks? 

 ø©¯¨£kzu¨£mh {v ÷©»õsø© Aø©¨¦ 
(].GL¨.G®.Gì) GßÓõÀ GßÚ, Ax Á[QPÎÀ 

{v {ºÁõPzøu GÆÁõÖ JÊ[S£kzxQÓx? 
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words.  

All questions carry equal marks. 

11. What are the main functions and services 

provided by commercial banks in India? 

  C¢v¯õÂÀ ÁoP Á[QPÒ ÁÇ[S® •UQ¯ 

ö\¯À£õkPÒ ©ØÖ® ÷\øÁPÒ ¯õøÁ? 

12. What is the concept of banker’s lien, and when can 

a bank exercise this right? Explain. 

  Á[Q¯õÍ›ß E›ø©°ß P¸zx GßÚ, J¸ Á[Q 

G¨÷£õx C¢u E›ø©ø¯¨ £¯ß£kzu •i²®? 

ÂÍUS. 

13. What happens when a cheque is refused or 

bounces, and what are the legal consequences of a 

bounced cheque? 

  J¸ Põ÷\õø» ©ÖUP¨£k®÷£õx AÀ»x £Äßì 

ö\´¯¨£mhõÀ GßÚ |hUS®, £Äßì 

ö\´¯¨£mh Põ÷\õø»°ß \mh ÂøÍÄPÒ 

¯õøÁ? 
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14. What are the Basel Banking Norms, and why are 

they important for the global banking sector? 

÷£\À Á[Q Âv•øÓPÒ GßÓõÀ GßÚ, AøÁ 

E»PÍõÂ¯ Á[Qz xøÓUS Hß •UQ¯©õÚøÁ? 

15. How does the Immediate Payment Service (IMPS) 

work, and what is its purpose in the banking 

sector? 

  EhÚi Pmhn ÷\øÁ (I.G®.¤.Gì) GÆÁõÖ 

ö\¯À£kQÓx, Á[Qz xøÓ°À Auß ÷|õUP® 

GßÚ? 

16. What statutory protections are available to a 

collecting banker when processing financial 

instruments like cheques? 

Põ÷\õø»PÒ ÷£õßÓ {va \õuÚ[PøÍa 

ö\¯»õUS®÷£õx ÷\P›US® Á[Q¯õÍ¸US GßÚ 

\mhŸv¯õÚ £õxPõ¨¦PÒ EÒÍÚ? 
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17. What roles do the National Financial Switch 
(NFS) and Inter Bank Funds Transfer Processor 
(IFTP) play in facilitating electronic fund 
transfers? 

ªßÚq {v £›©õØÓ[PøÍ GÎuõUSÁvÀ ÷u]¯ 
{v _Âma (Gß.GL¨.Gì) ©ØÖ® Á[QPÐUS 
Cøh°»õÚ {v £›©õØÓ ö\¯¼ (I.GL¨.i.¤) 
GßÚ £[S ÁQUQßÓÚ? 

  

––––––––––––––– 



  

 

 

U.G. DEGREE EXAMINATION –  
JULY 2024. 

Commerce 

Fifth Semester 

E-COMMERCE 

Time : 3 hours Maximum  marks : 70 

SECTION A — (3 × 3 = 9 marks) 
Answer any THREE questions out of Five questions in 

100 words. 
All questions carry equal marks. 

1. Define the concept E-Commerce.  
 ªßÚÝ ÁºzuPzøu Áøμ¯Ö. 

2. List out few essential elements of a business-to-
consumer (B2C) e-commerce strategy. 

 ¤]Úì–k–Pßì³©º (¤2]) ªßÚÝ ÁºzuP® 
‰÷»õ£õ¯zvß ]» Azv¯õÁ]¯ TÖPøÍ 
£mi¯¼kP. 

3. Write short notes on the concept of B2B  
e-commerce. 

 ¤2¤ ªßÚÝ ÁºzuP® P¸zuõUP® SÔzx ]Ö 
SÔ¨¦PøÍ GÊxP. 

 UG-AS-1334 BCOSE-51
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4. What is meant by Third-Party Payment 
Processing? 

 ‰ßÓõ® uμ¨¦ Pmhn ö\¯»õUP® GßÓõÀ GßÚ? 

5. Mention few business plan for implementing  
e-Commerce. 

 ªßÚÝ ÁºzuPzøu ö\¯À£kzxÁuØPõÚ ]» 
ÁoPz vmhzøuU SÔ¨¤kP. 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. What are some of the main differences between 
ecommerce and the more traditional commerce? 

 ªßÚÝ ÁºzuP® ©ØÖ® ªPÄ® £õμ®£›¯©õÚ 
ÁoPzvØS Cøh°»õÚ ]» •UQ¯ ÷ÁÖ£õkPÒ 
¯õøÁ? 

7. What are some fundamental characteristics of the 
Internet economy? 

 Cøn¯¨ ö£õ¸Íõuõμzvß ]» Ai¨£øh¨ 
£s¦PÒ ¯õøÁ? 

8. What is the primary distinction between business-
to-business (B2B) and business-to-consumer (B2C) 
e-commerce? 

 ¤]Úì k ¤]Úì (¤2¤) ©ØÖ® ¤]Úìk 
Pßì³©º (¤2]) ªßÚÝ ÁºzuP® BQ¯ÁØÖUS 
Cøh÷¯¯õÚ •ußø© ÷ÁÖ£õk GßÚ? 
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9. What are the potential benefits associated with 
the use of innovative online payment systems in e-
commerce? 

 ªßÚÝ ÁºzuPzvÀ ¦xø©¯õÚ Bßø»ß Pmhn 
•øÓPøÍ¨ £¯ß£kzxÁuõÀ HØ£hUTi¯ 
|ßø©PÒ ¯õøÁ? 

10. What are the risks associated with international 
e-commerce? 

 \ºÁ÷u\ ªßÚÝ ÁºzuPzvß Ehß öuõhº¦øh¯ 
A£õ¯[PÒ ¯õøÁ? 

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words.  

All questions carry equal marks. 

11. Explain the objectives of E-Commerce. 
  ªß ÁoPzvß ÷|õUP[PøÍ ÂÍUSP. 

12. How does the Internet enable businesses to 
redefine their boundaries and collaborate with 
external partners? 
ÁoP[PÒ u[PÒ GÀø»PøÍ ©ÖÁøμ¯øÓ 
ö\´ÁuØS® öÁÎ¨¦Ó TmhõÍºPÐhß 
JzxøÇ¨£uØS® Cøn¯® GÆÁõÖ EuÄQÓx? 
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13. Can you explain the basic economic model behind 
online advertising, especially in the context of 
internet portals and search engines? 

  Bßø»ß ÂÍ®£μzvØS¨ ¤ßÚõÀ EÒÍ 
Ai¨£øh ö£õ¸Íõuõμ ©õv›ø¯, SÔ¨£õP 
Cøn¯ ÷£õºmhÀPÒ ©ØÖ® ÷ukö£õÔPÎß 
¤ßÚo°À ÂÍUP •i²©õ? 

14. What is the purpose of electronic payment 
systems, and how have they evolved over time? 

 ªßÚq Pmhn •øÓPÎß ÷|õUP® GßÚ, 
Põ»¨÷£õUQÀ AøÁ GÆÁõÖ E¸ÁõQ²ÒÍÚ? 

15. What e-commerce platform will you use, and how 
will it support international operations? Explain. 

  }[PÒ G¢u ªßÚÝ ÁºzuP® uÍzøu¨ 
£¯ß£kzxÃºPÒ, Ax \ºÁ÷u\ |hÁiUøPPøÍ 
GÆÁõÖ Bu›US®? ÂÍUS. 

16. What is e-retailing, and how does it differ from 
traditional brick-and-mortar retailing? 

 ªßÚq ]À»øÓ ÂØ£øÚ GßÓõÀ GßÚ, Ax 
£õμ®£›¯ ö\[PÀ ©ØÖ® ÷©õmhõº ]À»øÓ 
ÂØ£øÚ°¼¸¢x GÆÁõÖ ÷ÁÖ£kQÓx? 

17. What do you think are some of the disadvantages 
of ecommerce as a business model? 

 J¸ ÁoP ©õv›¯õP ªßÚÝ ÁºzuP® ]» wø©PÒ 
GßÚ GßÖ }[PÒ {øÚUQÕºPÒ? 

  

––––––––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
JULY 2024 

Commerce 

Sixth Semester 

PRINCIPLES OF INSURANCE 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words 

All questions carry equal marks 

1. Define the term ‘Insurance’. 

 Põ¨¥miß C»UPnzøu Áøμ¯Ö. 

2. Who is insured? 

 Põ¨¦Öv ö£Ö£Áº ¯õº? 

3. What is Re insurance? 

 ©Ö Põ¨¥k GßÓõÀ GßÚ? 

 UG–AS–1335 BCOS–61
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4. Write any three marine losses. 

 H÷uÝ® ‰ßÖ PhÀ CÇ¨¦PøÍ GÊxP. 

5. Write note on Motor insurance. 

 ÁõPÚ Põ¨¥k SÔzx GÊxP. 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 

200 words 

All questions carry equal marks 

6. What are the various functions of insurance? 

 Põ¨¥miß £À÷ÁÖ ö\¯À£õkPÒ GßöÚßÚ? 

7. Distinguish between life insurance and general 

insurance. 

 B²Ò Põ¨¥k ©ØÖ® ö£õx Põ¨¥k BQ¯ÁØøÓ 

÷ÁÖ£kzxP. 

8. How would you claim under fire policy? 

 wUPõ¨¥miß RÌ }[PÒ GÆÁõÖ E›ø©U 

÷Põ¸ÃºPÒ? 
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9. Mention the different kinds of marine insurance 

policies. 

 £À÷ÁÖ ÁøP¯õÚ PhÀ\õº Põ¨¥miß 

öPõÒøPPøÍa _mkP. 

10. Explain the special features of health insurance. 

 ©¸zxÁU Põ¨¥miß ]Ó¨£®\[PøÍ ÂÁ›. 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words 

All questions carry equal marks 

11. Explain the various principles of insurance. 

 £À÷ÁÖ ÁøP¯õÚ Põ¨¥mkU öPõÒøPPøÍ¨ £ØÔ 
ÂÁ›. 

12. Elucidate the process of settlement of claims in 
Life Insurance. 

 B²Ò Põ¨¥k ÷Põ¸ÁvÀ EÒÍ ÁÈ•øÓPøÍ 
öuÎÄ£kzxP. 

13. Discuss the fundamental principles of fire 
insurance. 

 wUPõ¨¥miß Ai¨£øh öPõÒøPPøÍ¨ £ØÔ 
ÂÁõvUP. 
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14. Describe the various clauses of Marine insurance 
policies. 

 PhÀ\õº Põ¨¥mkU öPõÒøPPÎß £À÷ÁÖ 
Em¤›ÄPøÍ ÂÁ›UPÄ®. 

15. Explain in detail the fundamental principles of 
motor insurance. 

 ÁõPÚU Põ¨¥miß Ai¨£øhU öPõÒøPPøÍ 
Â›ÁõP ÂÍUSP. 

16. Bring out the differences between life assurance 
and other forms of insurance.  

 B²Ò Põ¨¥miØS® ©ØÓ Põ¨¥miØS® EÒÍ 
÷ÁÖ£õmiøÚa _mkP. 

17. Explain the role of Government in monitoring the 
insurance companies. 

 Põ¨¥mk {ÖÁÚ[PøÍU PsPõo¨£vÀ 
Aμ\õ[Pzvß £[øP ÂÍUSP. 

——––––––––– 
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Sixth Semester 

FINANCIAL MANAGEMENT 

Time : 3 hours Maximum  marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1.  Define Financial Management. 
 {v {ºÁõPzøu Áøμ¯ÖUP. 

2. Write a note on cost of capital. 
 ‰»uÚa ö\»Ä £ØÔ¯ SÔ¨ø£ GÊxP. 

3. What is capital structure? 
 ‰»uÚ Aø©¨¦ GßÓõÀ GßÚ? 

4. Write assumptions of Walter’s model on dividend 
payment. 

 £[Põuõ¯ öPõk¨£vÀ ÁõÀhºì ©õv›°ß 
AÝ©õÚ[PøÍ GÊxP. 

 UG-AS-1336 BCOS-62
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5. Mention the types of working capital. 

 |øh•øÓ ‰»uÚzvß ÁøPPøÍU SÔ¨¤kP. 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. State briefly the importance of financial 
management. 

 {v {ºÁõPzvß •UQ¯zxÁzøu _¸UP©õPU 
TÖP. 

7. What are the different types of cost of capital? 
Explain. 

 ‰»uÚzvß £À÷ÁÖ ÁøP¯õÚ ö\»ÄPÒ ¯õøÁ? 
ÂÍUSP. 

8. A firm has a sales of Rs. 20,00,000, variable cost of 
Rs. 14,00,000, fixed cost of Rs. 4,00,000 and a debt 
of Rs. 10,00,000 at 10%. Calculate operating 
leverage, financial leverage and combined 
leverage. 

 J¸ {ÖÁÚzvß ÂØ£øÚ ¹. 20,00,000, ©õÔ 
Âø» ¹. 14,00,000, {ø»¯õÚ ö\»Ä ¹. 4,00,000 
©ØÖ® Phß ¹. 10,00,000. CÀ 10% ö\¯À£õmk 
A¢{¯a ö\»õÁo, {v A¢{¯a ö\»õÁo ©ØÖ® 
J¸[Qøn¢u A¢{¯a ö\»õÁo BQ¯ÁØøÓU 
PnUQkP. 
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9. Two firms R and S are identical except in the 
method of financing. Firm R has no debt, while 
firm S has Rs. 3,00,000 8%. Debentures in 
financing. Both the firms have a Net operating 
income (EBIT) of Rs. 1,20,000 and equity 
capitalization rate of 12%. The corporate tax rate 
is 35%. Calculate the value of the firm using MM 
approach. 

 {v¯Î¨¦ •øÓø¯z uÂμ R ©ØÖ® S BQ¯ 
Cμsk {ÖÁÚ[PÒ J÷μ ©õv›¯õÚøÁ. R 
{ÖÁÚzvØS Phß CÀø», A÷u \©¯® S 
{ÖÁÚzvØS ¹. 3,00,000 8% PhÜmk £zvμ[PÒ 
EÒÍx. {v¯Î¨¤À Cμsk {ÖÁÚ[PÎÒ {Pμ 
C¯UP Á¸©õÚ® (EBIT) ¹. 1,20,000 ©ØÖ® £[S 
‰»uÚ ÂQu® 12%. Põº¨£÷μm Á› ÂQu® 35% 
BS®. MM AqS•øÓø¯¨ £¯ß£kzv 
{ÖÁÚzvß ©v¨ø£U PnUQkP. 

10. P Ltd. is engaged in customer retailing. You are 
required to forecast their working capital 
requirements from the following information. 

 Projected Annual Sales Rs. 6,50,000 

 % of Net profit to cost of sales 25% 

 Average credit allowed to debtors 10 weeks 

 Average credit allowed by creditors 4 weeks 

 Average stock carrying (in terms of sales 
requirement) 8 weeks 

 Add 20% to allow for contingencies. 
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 P Ltd. ÁõiUøP¯õÍº ]À»øÓ ÂØ£øÚ°À 

Dk£mkÒÍx. ¤ßÁ¸® uPÁÀPÎ¼¸¢x 

AÁºPÎß |øh•øÓ ‰»uÚz ÷uøÁPøÍ 

PnUQkP.  

 vmhªh¨£mh Bsk ÂØ£øÚ – ¹. 6,50,000.  

 ÂØ£øÚ ö\»Âß «x {Pμ C»õ£® – 25% 

 PhÚõÎPÐUS \μõ\› Phß 10 Áõμ[PÒ 

AÝ©vUP¨£kQÓx. 

PhÚõÍºPÍõÀ AÝ©vUP¨£mh \μõ\› Phß  

4 Áõμ[PÒ. 

 \μõ\›¯õP øP°¸¨¦ (ÂØ£øÚ ÷uøÁ°ß 

Ai¨£øh°À) 8 Áõμ[PÒ  

uØö\¯ÀPÐUPõP 20% AÝ©vUP¨£kQÓx. 

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 

500 words.  

All questions carry equal marks. 

11. Explain the objectives of Financial Management. 

  {v {ºÁõPzvß ÷|õUP[PøÍ ÂÍUSP. 
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12. Following information is available with regards to 
the capital structure of E Ltd: 

 Amount After tax 

 Rs. Cost of capital

  % 

Debentures 12,00,000 5% 

Preference share capital 4,00,000 10% 

Equity share capital 8,00,000 15% 

Retained earnings 16,00,000 12% 

 You are required Weighted Average Cost of 
Capital (WACC). 

  E LtdCß ‰»uÚ Aø©¨¦ öuõhº£õP ¤ßÁ¸® 
uPÁÀPÒ QøhUQßÓÚ. 

 öuõøP Á›US¨ ¤ÓS 

 ¹. ‰»uÚ ö\»Ä % 

Phß £zvμ[PÒ 12,00,000 5% 

•ßÝ›ø© £[S ‰»uÚ® 4,00,000 10% 

\õuõμn £[S ‰»uÚ® 8,00,000 15% 

uUP Á¸Áõ´ 16,00,000 12% 

 {øÓ°mh ‰»uÚ \μõ\› ö\»ÂøÚ (WACC) 
PnUQkP. 
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13. Discuss the different approaches of Capital 
Structure. 

  ‰»uÚU Pmhø©¨¤ß öÁÆ÷ÁÖ 
AqS•øÓPøÍ¨ £ØÔ ÂÁõvUP. 

14. The following data relates to Y Ltd 

 Earnings per share = Rs. 15 

 Capitalisation rate = 15% 

 Rate of return   = 20% 

 Determine the market price per share under 
Gordon’s model if retention is 

 (a) 20%  (b) 40%  

 (c) 60% 

 ¤ßÁ¸® uμÄ J´ ¼ªöhm öuõhº£õÚx 

 J¸ £[Qß Á¸Áõ´  = ¹. 15 

 ‰»uÚ ÂQu®  = 15% 

 Á¸Áõ´ ÂQu®  = 20% 

 Põºhß ©õv›°ß RÌ J¸ £[Qß \¢øu Âø»ø¯ 
PnUQkP uUPøÁ¨¦ ÂQu® ¤ßÁ¸©õÖ 
C¸¢uõÀ 

 (A) 20%  (B) 40%  

 (C) 60% 
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15. Kissan Ltd. has a EBIT of Rs. 6,00,000. Presently 
the company is entirely financed by equity of 
Rs.40,00,000 with equity capitalisation rate of 
16%. It is contemplating to redeem a part of its 
capital by introducing debt financing. It has two 
options – to raise debt to the tune of 30% will cost 
10% and equity capitalization rate will rise to 
17%. However, if the firm opts for 50% debt, it will 
cost 12% and equity capitalization rate will be 
20%. Compute the market value of the firm, 
market value of equity and the overall cost of 
capital. 

  Q\õß ¼ªöhm EBIT ¹. 60,000 uØ÷£õx {ÖÁÚ® 
•ÊÁx©õP ¹. 40,00,000 \õuõμn ‰»uÚ©õP 
öPõskÒÍx. ‰»uÚ ÂQu® 16% Phß 
{v²uÂø¯ AÔ•P¨£kzxÁuß ‰»® Auß 
‰»uÚzvß J¸ £Svø¯ «möhkUP Cx 
]¢vUQÓx. CuØS Cμsk Â¸¨£[PÒ EÒÍÚ – 
30% PhøÚ E¯º¢u 10% ö\»ÁõS® ©ØÖ® £[S 
‰»uÚ ÂQu® 17% BP E¯¸®. C¸¨¤Ý®, 
{ÖÁÚ® 50% PhøÚz ÷uºÄ ö\´uõÀ, AuØS 
12% ö\»ÁõS® ©ØÖ® £[S ‰»uÚ ÂQu® 20% 
BP C¸US®. {ÖÁÚzvß \¢øu ©v¨¦, 
£[SPÎß \¢øu ©v¨¦ ©ØÖ® ‰»uÚzvß 
Jmkö©õzu ö\»Ä BQ¯ÁØøÓU PnUQkP. 

16. Explain the techniques used for determination of 
working capital requirements. 

  |øh•øÓ ‰»uÚz ÷uøÁPøÍz wº©õÛUP¨ 
£¯ß£kzu¨£k® ~m£[PøÍ ÂÍUSP. 
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17. Company A and Company B are in the same risk 
class and identical. In all respects except that 
company A uses debt. While company B does not. 
Levered company has Rs. 20 lakh debentures. 
Carrying 12% rate of interest. Both Companies 
earn 20% before interest and taxes on their total 
assets of Rs. 50 lakhs. Assume perfect capital 
markets, tax rate of 50% and capitalisation rate of 
10% for an equity company. Compute the value of 
both companies under: 

 (a) Net Income approach; and 

 (b) Net operating Income approach. 

 {ÖÁÚ® A ©ØÖ® {ÖÁÚ® B BQ¯øÁ J÷μ Chº 
ÁS¨¤À EÒÍÚ ©ØÖ® J÷μ ©õv›¯õÚøÁ. A¢u 
{ÖÁÚ® A uÂμ AøÚzx Âu[PÎ¾® PhøÚ¨ 
£¯ß£kzxQÓx. {ÖÁÚ® B CÀø». ½Áºk 
{ÖÁÚ® ¹. 20 »m\® Phß £zvμ[PÒ. 12% Ámi 
ÂQu®. Cμsk {ÖÁÚ[PÐ® Ámi ©ØÖ® 
Á›PÐUS •ß 20% \®£õvUQßÓÚ, AÁØÔß 
ö©õzu ö\õzxPÍõÚ ¹. 50 »m\®. J¸ £[S 
{ÖÁÚzvØS \›¯õÚ ‰»uÚa \¢øuPÒ, 50% Á› 
ÂQu® ©ØÖ® 10% ‰»uÚ©õUPÀ ÂQu® 
BQ¯ÁØøÓU P¸x[PÒ. Cμsk {ÖÁÚ[PÎß 
©v¨ø£U RÌPsh •øÓ°À PnUQkP. 

 (A) {Pμ Á¸©õÚ AqS•øÓ; ©ØÖ® 

 (B) {Pμ C¯UP Á¸©õÚ AqS•øÓ. 

  

––––––––––––––– 
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MANAGEMENT ACCOUNTING 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words 

All questions carry equal marks 

1. Give the meaning of Management Accounting. 

 ÷©»õsø© PnUQ¯À Gß£uß ö£õ¸øÍU 
öPõk[PÒ. 

2. What is a Cash flow statement? 

 £n¨¦ÇUP AÔUøP GßÓõÀ GßÚ? 

3. What do you understand by ‘Net Present Value’? 

 ‘{Pμ uØ÷£õøu¯ ©v¨¦’ ‰»® }[PÒ GßÚ 
¦›¢xöPõÒQÕºPÒ? 

 UG–AS–1337 BCOS–63
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4. Define marginal costing. 

 ÂÎ®¦ Âø»ø¯ Áøμ¯ÖUPÄ®. 

5. Write a note on master budget. 

 ©õìhº £möám SÔzx J¸ SÔ¨ø£ GÊx[PÒ. 

PART B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words 

All questions carry equal marks 

6. What are the functions of Management 
Accounting? 

 ÷©»õsø© PnUQ¯¼ß ö\¯À£õkPÒ GßÚ? 

7. Rita Enterprises presents the following 
information and you are required to calculate the 
funds from operation 

 Profit and loss Account 
Particulars Amount 

Rs. 
Particluars Amount

Rs. 

To Operation 
Expenses 

 
1,00,000  

By Gross Profit 2,00,000

To Depreciation  40,000 By Gain on sale 
of Plant  20,000

To Loss on sale of 
Building 

 15,500   

To Discount 500   
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To Goodwill written 
off 

12,000   

To Net profit 52,000   

 2,20,000  2,20,000

 Ÿmhõ Gshº¤øμ\ì ¤ßÁ¸® uPÁø» 
ÁÇ[SQÓx ©ØÖ® }[PÒ ö\¯À£õkPÎ¼¸¢x 
{vø¯U PnUQh ÷Ásk®. 

»õ£® ©ØÖ® |mh® PnUS 
ÂÁμ[PÒ öuõøP 

¹. 
ÂÁμ[PÒ öuõøP 

¹. 

ö\¯À£õmka ö\»ÄPÒ 1,00,000  ö©õzu »õ£® 2,00,000

÷u´©õÚ®  40,000 ö£õÔ 
ÂØ£øÚ°À 
QøhUS® »õ£®  20,000

Pmih®  
ÂØ£øÚ°À CÇ¨¦ 

 
 15,500 

  

uÒÐ£i 500 

 
  

|Àö»snzvØS 
uÒÐ£i ö\´¯¨£mhx 

 
12,000 

  

{Pμ »õ£® 52,000   

 2,20,000  2,20,000

8. A project costs Rs.6,00,000, its scrap is Rs.40,000 
after five years, and profits after depreciation and 
taxes over five years are Rs.50,000, Rs.70,000, 
Rs.60,000 and Rs.30,000. Calculate the average 
rate of return on investment. 
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 J¸ vmhzvØS ¹. 6,00,000 ö\»ÁõS® Auß 
PÈÄ I¢x BskPÐUS¨ ¤ÓS ¹. 40,000, ÷©¾® 
÷u´©õÚzvØS¨ ¤ÓS »õ£® ©ØÖ® I¢x 
BskPÎÀ Á›PÒ ¹. 50,000, ¹. 70,000,  
¹. 60,000.  ©ØÖ® ¹.30,000 BS®. •u½miß 
\μõ\› Á¸©õÚ ÂQuzøuU PnUQk[PÒ. 

9. From the following data calculate: 

 (a) P/V ratio 

 (b) Variable cost and 

 (c) Profit 

 Rs. 

Sales 80,000

Fixed expenses 15,000

BEP 50,000

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x PnUQk[PÒ 

 (A) ¤/Â ÂQu® 

 (B) ©õÔ ö\»Ä ©ØÖ® 

 (C) »õ£® 
 ¹. 

ÂØ£øÚ 80,000

{ø»¯õÚ ö\»ÄPÒ 15,000

BEP 50,000
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10. Prepare a production budget of Index Limited for 
2021-2022 from the following information: 

Product Sales as per 
Sales budget (in units) 

Estimated Stocks  
(in units) 

  1st July 
2021 

30th June 
2022 

P 4,88,000 10,000 12,000 

Q 3,75,000 20,000 15,000 

R 6,00,000 50,000 25,000 

 2021–2022UPõÚ CßöhUì ¼ªöhmiß EØ£zv 
ÁμÄ ö\»Äz vmhzøu ¤ßÁ¸® uPÁÀPÎ¼¸¢x 
u¯õ›UPÄ®. 

ÂØ£øÚ £möámiß£i 
u¯õ›¨¦ ÂØ£øÚ 

(A»SPÎÀ) 

©v¨¤h¨£mh 
£[SPÒ (A»SPÎÀ)

  1st áüø» 
2021 

30th áüß 
2022 

P 4,88,000 10,000 12,000 

Q 3,75,000 20,000 15,000 

R 6,00,000 50,000 25,000 
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PART C —  (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions  
in 500 words 

All questions carry equal marks 

11. Calculate trend percentages from the following 
and interpret them by taking 2002 as the base 
Year Sales 

(Rs. in 
lakhs) 

Stock 
(Rs. in 
lakhs) 

Profit before tax 
(Rs. in  
lakhs) 

2002 1,881 709 321 

2003 2,340 781 435 

2004 2,655 816 458 

2005 3,021 944 527 

2006 3,768 1,154 672 

 ¤ßÁ¸ÁÚÁØÔ¼¸¢x ÷£õUS \uÃu[PøÍU 
PnUQmk, 2002I Ai¨£øh¯õPU öPõsk 
AÁØøÓ ÂÍUPÄ®. 
Bsk ÂØ£øÚ (¹, 

»m\[PÎÀ) 
£[S (¹. 

»m\[PÎÀ)
Á›US •¢øu¯ 

»õ£® 
(¹, »m\[PÎÀ)

2002 1,881 709 321 

2003 2,340 781 435 

2004 2,655 816 458 

2005 3,021 944 527 

2006 3,768 1,154 672 
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12. From the following Balance sheet as on 2017 and 
2018 you are required to prepare statement of 
sources and uses of funds. 

Liabilities 2017 
(Rs.) 

 2018 
(Rs.) 

 Assets 2017 
(Rs.) 

2018 
(Rs.) 

Share 
capital 

 
40,000 

  
45,000 

 Land 50,000 66,000

Creditors 10,000  23,000  Stock in 
trade 80,000 90,000

P and L 
A/c 

 
2,30,000 

  
2,50,000 

 Debtors 1,20,00 1,15,000

     Cash 30,000 47,000

 2,80,000  3,18,000   2,80,000 3,18,000

 2017 ©ØÖ® 2018 CÀ EÒÍ ¤ßÁ¸® 
C¸¨¦{ø»U SÔ¨¤¼¸¢x }[PÒ Buõμ[PÒ 
©ØÖ® {v°ß £¯ß£õkPÎß AÔUøPø¯z 
u¯õ›UP ÷Ásk®. 

ö£õÖ¨¦PÒ 2017 
(¹.) 

 2018 
(¹.) 

 ö\õzx 2017 
(¹.) 

2018 
(¹.) 

£[S 
‰»uÚ® 

 
40,000 

  
45,000 

 {»® 50,000 66,000

Phß 
öPõkzuÁºPÒ 

 
10,000 

  
23,000 

 £[S 
ÁºzuPzvÀ 
EÒÍx 80,000 90,000

C»õ£ |mh 
PnUS 

 
2,30,000 

  
2,50,000 

 PhÚõÎPÒ 1,20,00 1,15,000

     öμõUP® 30,000 47,000

 2,80,000  3,18,000   2,80,000 3,18,000
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13. An investment of Rs. 10,000 (having scrap value of 
Rs. 500) yields the following returns: 

Year Yield 
(Rs.) 

P.V. factor
@ 10% 

1 4,000 0.909 

2 4,000 0.826 

3 3,000 0.751 

4 3,000 0.683 

5 2,000 0.621 

 The cost of capital is 10%. Is the investment 
desirable? Discuss it according to the Net Present 
Value method. 

 •u½k 10,000 (ìQμõ¨ ©v¨¦ ¹. 500) ¤ßÁ¸® 
Á¸©õÚzøu AÎUQÓx. 

BskPÒ ©P`À  
(¹.) 

P.V. Põμo
@ 10% 

1 4,000 0.909 

2 4,000 0.826 

3 3,000 0.751 

4 3,000 0.683 

5 2,000 0.621 

 ‰»uÚ ö\»Ä 10% BS®. •u½k Â¸®£zuUPuõ? 
{Pμ uØ÷£õøu¯ ©v¨¦ •øÓ°ß£i Aøu¨ £ØÔ 
ÂÁõvUPÄ®. 
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14. An automobile manufacturing company finds that 
the cost of making part no. 208 in its own 
workshop is Rs. 6. The same part is available in 
the market at Rs. 5.60 with an assurance of 
continuous supply. The cost data to make the part 
are: 

Material Rs. 2
Direct labour 2.50 
Other variable cost 0.50 
Fixed cost allowed 1 
Total 6 

 (a) Should the part be made or bought? 

 (b)  Will your answer be different if the market 
price is Rs.4.60? 

 J¸ Bm÷hõö©õø£À EØ£zv {ÖÁÚ® Auß 
ö\õ¢u £mhøÓ°À £Sv Gs. 208 u¯õ›¨£uØPõÚ 
ö\»Ä ¹. 6 GßÖ PshÔ¢xÒÍx. A÷u £Sv 
\¢øu°À ¹. 5.60US öuõhº¢x ÁÇ[PÀ 
EÖv²hß QøhUQÓx. £Svø¯ 
E¸ÁõUSÁuØPõÚ ö\»Äz uμÄ 

ö£õ¸Ò ¹. 2
÷|μi T¼ 2.50
©ØÓ ©õÔ {ø» 0.50
AÝ©vUP¨£mh {ø»¯õÚ ö\»Ä 1 
ö©õzu® 6 

 (A) £Sv u¯õ›UP¨£h ÷Ásk©õ AÀ»x Áõ[P 
÷Ásk©õ? 

 (B) \¢øu Âø» ¹, 4.60 GßÓõÀ E[PÒ £vÀ 
Âzv¯õ\©õP C¸US©õ? 
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15. For the production of 10,000 Electrical Automatic 

Irons the following are budgeted expenses: 

Particulars Cost per unit

Rs. 

Material 60

Labour 30

Variable overheads 25

Fixed overheads(Rs. 1,50,000) 15

Variable expenses(Direct) 5

Selling expenses (10% fixed) 15

Distribution expenses (20% fixed) 5

Administration expenses (50,000 

rigid for all levels of production) 

5

Total cost per unit. 160

 Prepare a budget for production of 6,000 and 7,000 

irons distinctly marginal cost and total cost. 

 Assume that administration expenses are fixed for 

all levels of production. 
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 10,000 A»SPÒ, G»Um›UPÀ Bm÷hõ÷©miU 
A¯ºßPÎß EØ£zvUS ¤ßÁ¸£øÁ £möám 
ö\»ÄPÒ 

ÂÁμ[PÒ J¸ A»S 
Âø»  

¹. 

ö£õ¸Ò 60

T¼ 30

©õÔ ÷©À{ø»PÒ 25

{ø»¯õÚ ÷©À{ø»PÒ (¹. 1,50,000) 15

©õÓUTi¯ ö\»ÄPÒ (÷|μi) 5

ÂØ£øÚ ö\»ÄPÒ (10% {ø»¯õÚx) 15

Â{÷¯õP ö\»ÄPÒ (20% {ø»¯õÚx) 5

{ºÁõP ö\»ÄPÒ (AøÚzx EØ£zv 

{ø»PÐUS® 50,000 

PiÚ©õÚx) 

5

J¸ A»SUPõÚ ö©õzu ö\»Ä 160

 6,000 ©ØÖ® 7,000 C¸®¦PÒ EØ£zvUPõÚ 

£möámøhz u¯õ›UPÄ®. EØ£zv°ß AøÚzx 

{ø»PÐUS® {ºÁõPa ö\»ÄPÒ 

{ºn°UP¨£mkÒÍÚ GßÖ øÁzx öPõÒ÷Áõ®. 
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16. From the following details find out (a) Current 
Assets (b) Current liabilities (c) Value of inventory 

Current Ratio 3.5 

Liquid ratio 2.5 

Working Capital Rs. 1,00,000

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x (A) |h¨¦a 
ö\õzxUPÒ (B) |h¨¦U ö£õÖ¨¦ (C) \μUSPÎß 
©v¨ø£U PshÔ¯Ä®. 

|h¨¦ ÂQu® 3.5 

}ºø© ÂQu® 2.5 

|øh•øÓ •uÀ ¹. 1,00,000

17. Distinguish between Management Accounting and 
Financial Accounting. 

 ÷©»õsø© PnUQ¯À ©ØÖ® {v {ø» PnUQ¯À 
BQ¯ÁØøÓ ÷ÁÖ£kzx[PÒ. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION — JULY 2024. 

Commerce 

Sixth Semester 

AUDITING  

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions  
in 100 words. 

All questions carry equal marks. 

1. Define ‘Auditing’. 

 ‘uoUøP’ Áøμ¯ÖUPÄ®. 

2. What do you mean by verification? 

 \›£õº¨¦ GßÓõÀ GßÚ? 

3. Who can remove the auditor? 

 uoUøP¯õÍøμ ¯õº }UP •i²®? 
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4. Give the meaning of management audit. 

 ö£õ¸Ò u¸P & ÷©»õsø© uoUøP. 

5. Write a short note on Government audit. 

 SÔ¨¦ ÁøμP &  Aμ_ uoUøP. 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions  
in 200 words. 

All questions carry equal marks. 

6. What is internal Check? Give its objectives. 

 EÒ ÷\õuøÚ GßÓõÀ GßÚ? Auß ÷|õUP[PÒ 
¯õøÁ? 

7. List down the various types of voucher. 

 £À÷ÁÖ ÁøP¯õÚ \õßÖPøÍ £mi¯¼kP. 

8. Explain the qualification of company auditor. 

 {ÖÁÚz uoUøP¯õÍ›ß uSvø¯ ÂÍUSP. 

9. Distinguish between financial audit and 
management audit. 

 {v uoUøP ©ØÖ® ÷©»õsø© uoUøPø¯ 
÷ÁÖ£kzxP. 

10. Enumerate the duties of accountant general. 

 ö£õx PnUPõÍ›ß Phø©PøÍ £mi¯¼kP. 
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions  
in 500 words. 

All questions carry equal marks. 

11. Discuss the objectives of auditing. 

 uoUøP°ß ÷|õUP[PøÍ¨ £ØÔ ÂÁõvUP. 

12. Explain the vouching of trading transactions. 

ÁºzuP £›ÁºzuøÚPÎß \õßÓõ´øÁ ÂÍUSP. 

13. Discuss the duties of a company auditor. 

 J¸ {ÖÁÚ uoUøP¯õÍ›ß Phø©PøÍ¨ £ØÔ 
ÂÁõvUP. 

14. Examine the impact of computerization on audit 
approach. 

 uoUøP AqS•øÓ°À PoÛ©¯©õUP¼ß 
uõUPzøu Bμõ´P. 

15. Elucidate the functions of Comptroller and Audit 
General of India. 

 C¢v¯õÂß uoUøP Pmk£õmhõÍ›ß 
ö\¯À£õkPøÍ öuÎÄ£kzxP. 
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16. Explain in detail the form and contents of audit 
report. 

 uoUøP AÔUøP°ß £iÁ® ©ØÖ® 
EÒÍhUP[PøÍ Â›ÁõP ÂÍUSP. 

17. Discuss the auditor’s duty regarding verification 
and valuation of assets. 

 ö\õzxUPÎß \›£õº¨¦ ©ØÖ® ©v¨¥k öuõhº£õÚ 
uoUøP¯õÍ›ß Phø©ø¯ ÂÁõvUP. 

  

——––––––––– 
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ENTREPRENEURSHIP DEVELOPMENT 

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions  

in 100 words. 

1. Write three characteristics of an entrepreneur. 

 J¸ öuõÈÀ•øÚ÷Áõ›ß ‰ßÖ £s¦PøÍ 

GÊxP. 

2. Write about ideation techniques. 

 ]¢uøÚ ~m£[PøÍ¨ £ØÔ GÊxP. 

3. What is project formulation? 

 vmh E¸ÁõUP® GßÓõÀ GßÚ? 
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4. What do you mean by hire purchase? 

 ÁõhøPUS öPõÒ•uÀ GßÓõÀ GßÚ? 

5. Expand and write about BIFR. 

 BIFR £ØÔ Â›Ä£kzv GÊxP. 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions  
in 200 words. 

All questions carry equal marks. 

6. Write notes on rural entrepreneurship. 

 Qμõ©¨¦Ó öuõÈÀ•øÚÄ £ØÔ¯ SÔ¨¦ ÁøμP. 

7. Explain the concept of ideation catalyst and 
inhibitors. 

 P¸zv¯À ÂøÚ³UQ ©ØÖ® uk¨£õßPÎß 
P¸zøu ÂÍUSP. 

8. Explain boot strapping in detail. 

 §mìmμõ¨¤[øP Â›ÁõP ÂÍUSP. 

9. Explain the tax benefits given to small scale 
industries by the government. 

 ]ÖöuõÈÀPÐUS Aμ\õÀ ÁÇ[P¨£k® 
Á›a\¾øPPøÍ ÂÍUSP. 
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10. Discuss the elements of financial statements in 
detail. 

 {v{ø» AÔUøP°ß TÖPøÍ Â›ÁõP ÂÁõvUP. 

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions  
in 500 words. 

11. Write the factors that affect entrepreneurial 
growth. 

 öuõÈÀ•øÚ÷Áõº ÁÍºa]ø¯ £õvUS® 
PõμoPøÍ GÊxP. 

12. Discuss the functions of business model in detail. 

 ÁoP©õv›°ß ö\¯À£õkPøÍ Â›ÁõP 
ÂÁõvUP. 

13. Discuss the legal compliances that a small scale 
industry follows to run a business. 

 J¸ ÁoPzøu |hzxÁuØS J¸ ]Ô¯ AÍÂ»õÚ 
öuõÈÀ ¤ß£ØÖ® \mh CnUP[PøÍ¨ £ØÔ 
ÂÁõvUP. 

14. Explain the government policies for small scale 
industries. 

 ]Ö öuõÈÀPÐUPõÚ Aμ]ß öPõÒøPPøÍ 
ÂÍUSP. 
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15. Elaborate in detail the growth strategies by an 
entrepreneur. 

 J¸ öuõÈÀ•øÚ÷Áõ›ß ÁÍºa] EzvPøÍ 
Â›ÁõP ÂÁ›. 

16. Explain the Institutional support to 
entrepreneurs. 

 öuõÈÀ•øÚ÷Áõ¸US {ÖÁÚ BuμøÁ¨ £ØÔ 
ÂÍUSP. 

17. Explain the steps to develop a business model. 

 ÁoP©õv›ø¯ E¸ÁõUSÁuØPõÚ £iPøÍ 
ÂÍUSP. 

  

——––––––––– 


